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Topic:- Nutrition and Health

1) Diet of a protein energy malnourished child should be rich in:/ MEA-Sol FUNM IR F AR B & TG 81 T113C:
1. Protein/ IGiE]

2. Spices / T

3. Both of the above/ IWRIad GHI

4. Carbohydrate/ WE%E

Correct Answer :-

« Both of the above/ RENESKAL]

2) Which of the following measure helps in the prevention of malnutrition in children?/ sﬂﬁﬁaﬁﬂ-mmaaﬁﬁgqﬁw
P AHUTH HA | Teg HRam 82

1. Family planning and space of birth/ GRaR ¥4I Td I=di & T H 3I<RTd
2. All of the above/ Sudad Tt
3. Nutrition Education/ TYSoT et fRiem

4. Promotion of breast feeding/ WU & FgIdl

Correct Answer :-

« All of the above/ Iudad gt

3) Which of the following is not an important parts of treatment of diarrhea is/are:/ Fﬁ“\ﬁﬁﬂaﬁ%wmw

HIT T8 282

1. To prevent dehydration from occurring, if possible/ e Trg B Y FASTelep U 819 Bt AH U HRAT
2. To treat dehydration quickly if it does occur/ afe; fAsTeleul & SITU Ot ST ol T JU=R HAT

3. To feed the child/ S &T U WRAT

4. To include oily and spicy food in the diet/ 38R # delld 3R AYTAGR IS QT BT

Correct Answer :-

« To include oily and spicy food in the diet/ 3TER & delid 3R AYTAGR o YT BT

4) Which one of the following is a rich source of protein?/ Eﬂ'ﬁﬁﬁq,tﬁ'cﬁq?ﬂm'ﬁﬁ?f%?
1. Fruits/ ©d

2. Soybean/ GTEH

3. Milk/ g4

4. Rice/ d1dd

Correct Answer :-

« Soybean/ TEH
5) Good source of vitamin C is:/ faef¥ ¢ &1 9y= Wad §:
1. Fresh fruits and Vegetables/ %d d Hfesrat

2. Cereals/ 3T
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3. Pulses/ ald

4. Milk/ g4

Correct Answer :-
« Fresh fruits and Vegetables/ d g gfesat

6) According to ICMR 2010 the energy requirement of a sedentary male is:/ ICMR ZOIO%WWW%W
JTaRGHdT &:

1. 2320 kcal/2320 e ary
2. 2730 keal/2730 fEaipart
3. 3490 kcal/3490 foraimat
4. 1900 kcal/ 1900 el art

Correct Answer :-

« 2320 kcal/2320 fpaidar
7) Which of the following is a goal of antenatal care?/ 378 ¥ ®I7 UHaYd SEHTA HT TP & 82
1. To keep the mother healthy/ AT B WY T

2. To help prevent problems like low birth weight and newborn infections/ S/ & THd YR AT ¥ HH HT Td AqlId 1RIY] & HHHOT 3717
g3t o1 AeUr H geg BT

3. To have a normal delivery/ ITH-I Ud ST
4. All of the above/ Iudad 4t

Correct Answer :-

« All of the above/ Iudad gt

8) Which Energy source should be avoided during pregnancy?/ THIa®IT # fr Seif wid & -1 a1fge?
1. Alcohol/ Tebigd

2. Carbohydrate/ HTalgESe

3. Protein / UIeH

4, Fat/ 941

Correct Answer :-

« Alcohol/ Tehigd

9) The process by which an individual's immune system becomes fortified against an agent is known as:/ ag ufepr,

1% g1 cafa @1 wfaRe aw, fedt Tl $ v edipa gl waTd,_ weard! &
1. Immunization/ yferefiewo

2. Both of the above/3IuRiad it

3. None of the above/ IWRiad H J &S gl

4. Vaccination/ d&1aul

Correct Answer :-

« Both of the above/IWRiad ¥+t

10) Raised cortisol level lowers growth hormone and so the child becomes:/ ﬁﬁﬁamwgaan@ﬁn’ﬁrﬁmﬁm
a1 ? R w= & T &:

1. Obese/ HICTURRA

2. All of the above/ Gtrejaamﬁ
3. Wasted/ &3 ¥ ifgd

4. Stunted/ gfexiy ¥ difga
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Correct Answer :-

« Stunted/ gfeRiy ¥ difsa

11) Maternal under nutrition effects:/ wﬁm%wﬁwﬁaﬁﬁ_mmm%
1. Both of the above/ JIURIEd gl

2. None of the above/ IRIad & § H1$ g

3. Quantity of breast milk/ Af % g4 & AT

4. Quality of breast milk/ AT % g @} urawr

Correct Answer :-

« Both of the above/ SWRIad GiH!

12) Which one of the following pair is incorrect?/ sﬁﬁaﬁq-mﬁhrﬂwé?

1. Polio- Monkey/ Tifer - TR

2. Plague- Rat/ ‘ﬁﬂ-ifs’l

3. Tapeworm- Pig/ Wil HiH - H

4. Malaria- Mosquito/ HaRAN - AR

Correct Answer :-

« Polio- Monkey/‘ﬂﬁ'@-w

13) Which of the following functions performed by the protein in the body?/ Wﬁﬁ?ﬁ?'{ﬂﬁﬁﬁﬂ-mmmﬁ?
1. Acid base balance where proteins act as buffer/ -8R Iwqa STH W, IR BT B B &

2. Transport lipoproteins and other carrier molecules/ URas- AU 3R 31 ATESH 3T

3. Immune function where antibodies attach bacteria and viruses/ R &1 w1, s ttare! siarusit Siv faumpsit § g o §
4. All of the above/ Iudad 4t

Correct Answer :-

« All of the above/ Iudad qHt
14) Which of the following is not an infectious disease?/ Eﬁﬁﬁﬂwww ﬂﬁ%‘!
1. Influenza/ ST

2. Measles/ Ta1

3. Tuberculosis/ &3 I (CLERG N R)

4. Night Blindness/ gt

Correct Answer :-

« Night Blindness/ Idiel

15) Which programme was launched by the Hon’ble Prime Minister on 12th April 2005?/ 12 3 2005 F! AT
T gIRT fr Srishd ot SIRTY far T ur?

1. National Rural Health Mission/ J=d ¥ ged f=M 1gta grfior wmey o)
2. Women and Child Development/ Afgdl T4 a9 faswm

3. Health & Family Welfare/ TTRg Td URAR Herol

4. Food & Public Distribution/ @ Td S faaRur

Correct Answer :-

« National Rural Health Mission/ =RIFe & g fRH (P10 A0l WA i)

16) D.P.T vaccine cannot be used for the prevention of:/ D.P.T AR BT ITAT B B %ﬁrqaé’tﬁ:‘mmm %:
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1. Diphtheria / fewiifear
2. Whooping cough / ARG

3. Tuberculosis / &3 I (CIERGAR)
4. Tetanus/ feeT9

Correct Answer :-

« Tuberculosis / &3 T (SRR ART)

17) According to ICMR 2010 the amount of protein required by infants( 6-12 month) per day are:/ ICMR 2010%3@?1?,
oo et (6-12 AT8) ¥ forg wfafeq smazas Wid= & A &

1. 1 g/Kg body weight/ 1 /&3 IRR UR

2. 1.69 g/Kg body weight / 1.69 T/ IRR HUR
3.2.25 g/Kg body weight/ 2.25 T1/f1 TR HR
4. 3.4 g/Kg body weight/ 3.4 I1/fu1 TRR 4R

Correct Answer :-

« 1.69 g/Kg body weight / 1.69 T/ IR YR

18) Vitamins are known as:/ fqeiffim__ &
1. Organic compounds/ PIEHD AD

2. Inorganic compounds/ 3PTeHD DD

3. Living organisms/ Sifad gmoft

4. None of the above/ IWRIad H § &S gl

Correct Answer :-

« Organic compounds/ ST QS

19) Which of the following is important for proper utilization of iron in body?/ IV ¥ MR &1 3fa &1 A IUAHT 811 & ferw

T @ P Aoyl 87

1. Nicotinic Acid and Fat/ Feifefe 3n ug aar

2. Fat and Protein/ 391 T4 WIeH

3. Ascorbic acid and protein/ T&biTad 3T Td W
4. Carbohydrate and fat/ ®Teg/3ge g 4T

Correct Answer :-

« Ascorbic acid and protein/ T&piTad 3T Tg Ui

20) Which of the following is not recognized as eating disorder during the adolescent period?/ Eﬁﬁﬁv‘\ﬁﬁﬂtﬁ?ﬁw%
SR &1 WU @ FEfRd AR 78w o 82

1. Anorexia nervosa/ TARIGT AaTgT
2. Bulimia nervosa/ geiferar watan

3. Menstruation/ ATRI® ¢

4. Bing eating/ '5?5'@ ERRCIE]

Correct Answer :-

. Menstruation/ ATRI® ¢if

21) How many days in the year State Governments/UTs have been requested to provide supplementary food to the

beneficiaries through ICDS scheme?/ Y50 WRXHRI/B5 MRIA &3 | 1CDS W1 & Tread F ATl &1 af & fram foq e wis=
WS FRA BT SRy fapar 32

1. 100 days/100 fea

2. 200 days/200 f&
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3. 300 days/300 f&

4. 400 days/400ﬁ_—f

Correct Answer :-
« 300 days/300 faq

22) In which of the following disease Oral rehydration salts (ORS) solution therapy is not used for the treatment:/

T A 5 A & IuaR A 3Ra Sz Aiced (ORs) N fufren o1 Suahn 78 fvan srar @
1. Diabetes/ mﬁa

2. Dysentery/ Ofaer

3. Loose motion/ Tdd Ad

4, Diarrhea/ ¥9gft (G%)

Correct Answer :-

« Diabetes/ AYH®

23) Which of the following statement is incorrect about the tetanus?/ T FINHA sqﬁﬁaﬁﬂ-mmm %?

1. The incubation period of tetanus is usually between 3 and 21 days/ &9 BT ITGa BT (SHIIIA UIRTS) MHIR W 3 ¥ 21 {3 &1

el &

2. Clostridium tetani spores are introduced into acute wounds from trauma, surgeries and injections, or chronic skin lesions and

infections/STAT (SITETd), W@Wﬁﬁﬁﬂﬁmﬁ%maﬁ@mﬁﬁmﬁ%ﬁ%mmmm%
3. Toxin-mediated disease caused by Clostridium tetani/ I8 FORCITSTH fee=t & HRUI 1 aTel U Siafqy HIferd A7 8
4. Tetanus is transmitted from person to person/ ¢—9 ofad ¥ fad &1 ol &

Correct Answer :-

« Tetanus is transmitted from person to person/ T afad Q i &) thadl §
24) Major advantage of breast feeding is/are:/ WET/%E’@ETN e
1. Low lactose content / ddcIyl &1 & HET

2. High casein/ B B 3 AR

3. Strong immunity/ GARITeN TTaRaT

4. E. coli factor/ § ﬁ?ﬂ'scm

Correct Answer :-

« Strong immunity/ fgaRmer ufaRem

25) Prophylaxis programme against vitamin A deficiency is being implemented by the Government of India in year:/
YR GBI gRT adf T faerfiA A A & v ARIY Srfty &1 Hraf-aa- T &1 381 &

1.1970
2.1982
3.1992
4.1998
Correct Answer :-

« 1970

26) Low birth baby should receive vitamin supplementation in addition to the amount present in human milk

because:/ S ¥ THY FT UK 1 R &) aren & gu § IufRua faerfi & aen & ary-ary e sgge o frem arfie wifs:
1. Their growth rate is rapid/ 3! gfg R 4w gt §

2. Their gastrointestinal absorption is reduced/ 370 SR 3TRNT HH Bl &

3. All of the above/ Iudad Tt

4. Premature infants are born with low body stores of vitamin/ THd ¥ Uga o= fgaif & RR H faetfde & HeR suaid g §
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Correct Answer :-

« All of the above/ Iudad gt

27) Which of the following is not used as an indicator of malnutrition?/ ﬁﬁ%@m%m%wﬁmqﬁmﬁ?
1. Body Mass Index/@ﬁﬂﬂé@fﬁ{

2. Skin fold thickness/ @1 & AIS &1 AlCTS

3. Mid-Upper Arm Circumference/ At0-3US} dig @1 aif

4. Blood Pressure/ Xaddiq

Correct Answer :-
« Blood Pressure/ X&ddq

28) Measles is an acute childhood infectious disease caused by:/ mﬁﬁﬁaﬁmweﬁ&mwm%aﬁ @ﬁ?ﬂ

1. Virus/ fasmgy

2. Bacteria/ STy
3. Both of the above/ JWIad gt

4. None of the above/ IWRigd & § BTs T8l

Correct Answer :-

« Virus/ faurg

29) Which of the following vaccine is used for the prevention of polio?/ GIfera Fi AHUH & e 30 T fFg A== &1 SwE
fopan wiran &2

1. OPV
2. All of the above/ Sjad Faft
3.DPT

4.BCG

Correct Answer :-

. OPV

30) Which of the following classification is used to classify the nutritional status of malnourished child?/gﬂﬂﬁlﬂﬁt—zﬁaﬁ

ot fRufe 1 affevor s & fog 57 & fpw affeeor 1 Suai fvar wiman 32
1. Gomez classification/ TS FIHROT

2. IAP classification/ 1AP TiffeRur

3. Water low classification/ dfexall gffaor

4. All of the above/ Gtrejaamﬁ

Correct Answer :-

« All of the above/ Iudad gt

31) Which of the following statement is incorrect?/ S8 ¥ HH-HT $Y 7T 82
1. Passive immunity occurs after taking a vaccine or injection/ FfSpg UfaRen JodiH a1 S99 @A™ & sIc ufed gl §
2. BCG and small pox vaccines are made up of weak live disease producing germs/ BCG 3R I & JaiI INT I H aTa siifad, g

HHIR AN A A B §
3. Diph%heria and tetanus are controlled by the administration of toxoids/ fSwifar 3iR TcTw o1 g Sitafqwy (cieass) Ios foar
SITdT

4. Vaccines are made up of dead disease producing germs/ 3@, A7 I3 B AT Yo JMU[SH § T4 8 &

Correct Answer :-

« Vaccines are made up of dead disease producing germs/ a?ﬂﬁ:f, ﬁﬂwaﬂﬁaﬁﬁﬂil Uﬁrﬁ@ﬁﬁ%ﬁ%
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32) The school age period is considered as the age from:/ faEmadl g & e@fr  T% & g &) A4 &:
1.1-6 years/1-66|15f

2.6-12 years/6—123‘5f

3.12-15 years/12-15 ¥

4. 15-18 years/15-18 CL

Correct Answer :-

e 6-12 years/6-123'l§f

33) Supplementary food, other than mother’s milk is recommended for babies at the age of:/ Ll &Tﬂ%fﬁmjﬁﬁ%
o aTaT & gy & Srarar e wie ot foy W &t SR @ Wl @:

1. 12 months/12 HIg
2. 14 months/14 HAlg
3. 10 months /10 HI§
4. 6 months/6 Hlg

Correct Answer :-

« 6 months/6 Hlg

34) Which among the following does not have vaccine?/ 398 & fa®r i 78 &2
1. Polio/ Tiferay

2. Obesity/ HreTar

3. Whooping cough/ el Gt

4. Tetanus/ fee9

Correct Answer :-

« Obesity/ Hretdr

35) Which of the following factor is not responsible for malnutrition in children:/ Eﬁﬁﬁ?—'ﬂ PRP, aaﬁﬁgtﬁw%m
FRer g &2

1. Biological/ Sfaw

2. Environmental/ gafaRuiig
3. Economic/ firaeasit

4. Beauty/ adl

Correct Answer :-

« Beauty/ gaxd

36) Which of the following factor responsible for the intrauterine growth retardation (IUGR)?/ THIR™ ¥ 3R gfg et
TS WM (SRS MY NETSTM, 1UGR) F T 397 A HI9-11 $RS Iuerdl 82

1. Maternal under nutrition / HTdT &1 ITHT § HH TIV0T fEemT

2. Drugs, alcohol or cigarettes/ W‘ET?E, Tedhlgd a1 RRe

3. Gestational diabetes, high blood pressure or heart disease/ UW@?H@‘@’, WWWW
4. All of the above/ Tﬂﬁﬂﬁﬂlﬁ

Correct Answer :-

« All of the above/ Sujad Taft

37) Main difference between the symptoms of kwashiorkor and marasmus is:/ BIRIRDIY aﬁ?ﬁ?mﬂ%a&wﬁﬁa'@ IR &

1. Muscle wasting/ Ui &g
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2. Diarrhea/ TUEUN (&)
3. Oedema/ TSI (RA THA 5 § ITF oI )
4, Irritability/ frsfasmaa

Correct Answer :-

+ Oedema/ TEHT (TR THA GIF U ITH Yo)

38) Which of the following statement is incorrect about the colostrum?/ tﬁqw%aﬁﬁsqﬁ'éaﬁ'—r-wmm%?
1. It is rich in protein/ STH WIdH &1 3= AT 8l §

2. It contains an interferon like substance which possesses strong antiviral activity/ 398 eI ST T Terdf gidT & o wifdaame
fasToRYeR 7o S &

3. Total fat content of colostrum is more than the mature milk/ TS & 99T &1 @ AT 91 319 910 A & g4 J 31fb g 8
4. Colostrum is the first immunization to the infant/ TW ¥ TaiTd g &1 Ugan uferefiwmRor giar 8

Correct Answer :-

« Total fat content of colostrum is more than the mature milk/ gy & a1 & $d A 18 § 3 aTa AT & gu ¥ i gl 8
39) Which among the following is a viral disease?/ Eﬁﬁﬁ?@ﬁ'ﬂﬂﬂﬂﬁﬂ?&ﬁ%"

1. Diphtheria/ f&wiifwn

2. AIDS/ TSH

3. Whooping cough/ Tail G

4. Cholera / &<T

Correct Answer :-

« AIDS/ U9

40) A balanced diet should provide around:/ ﬁﬁl’ﬂ&ﬂ(’ﬂﬁ foren =nfge:
1. 20-25 percent of total calorie from carbohydrate/ HTEEISSE ¥ A HERT BT THIHT 20-25 =T

2. 40-45 percent of total calorie from carbohydrate/ BTEIGESC A FT HART BT THIHT 40-45 Tl
3. 60-70 percent of total calorie from carbohydrate/ HTEEIIS ¥ H& HAN BT TTHIT 60-70 HfI=Id
4. 70-80 percent of total calorie from carbohydrate/ FTHEESC ¥ BT BRI BT TTHT 70-80 U

Correct Answer :-

. 60-70 percent of total calorie from carbohydrate/ FTEgIRSe ¥ Hd B! BT TIHT 60-70 TR

41) How much protein are given to severely malnourished Children (SAM) under the revised norms of ICDS?/ ICDS &

Tifia Al & st TR wu A A (sam) Tl Bt e Wit foar sirar 82
1.12-15 g/12-15 71
2.20-25 g/20-25 7
3.30-35 g/30-35 7
4. 40-45 g/40-45 7

Correct Answer :-

. 20-25 g/2025 70

42) Which of the following is not an airborne disease?/ 37H q I U arg-arfed 1T 8l 82
1. Chickenpox/ EECD

2. Influenza/ SURIUST

3. Diarrhea/ ¥4gft (G%)

4. Anthrax/ QW)HH
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Correct Answer :-

« Diarrhea/ ¥Ugtf @%)

43) Angular stomatitis, glossitis and cheilosis are deficiency symptoms of:/ ﬁvﬁuwmm@wsﬁ'ﬂ), ﬁﬂET‘\’ff?I
[araTsied) 3R sigfaewar @A) F ot FAevr §:

1. Vitamin A/ eI A
2. Folic Acid/ Wifeie i
3. Riboflavin/ JgawifaT

4. Iron/ 3IARA

Correct Answer :-

« Riboflavin/ JSatRifa

44) Which vitamin plays important role in vision and immunity?/ ﬁq.mﬁamwsmuﬁ?wﬁwmﬁm%?
1. Vitamin B6/ faeTi#H B6

2. Vitamin ¢/ fderfm ¢

3. Vitamin A/ faeTfiT A

4. Vitamin K/ faeifim

Correct Answer :-

- Vitamin A/ faerfiT A

45) Which mineral helps in maintaining the bone strong?/ ﬁ?—ﬂ@ﬁﬁ?’%ﬁﬁwm?@ﬁﬁmm%?
1. Calcium/m

2. Iron/ 3MTARA

3. Sodium/ HIfeaH

4. Zinc/ TS

Correct Answer :-

. Calcium/a?%zrq'q

46) Which vitamin is soluble in water?/ $1-91 ferfi oa # ga=ia 82
1. Vitamin A/ faeTf A
2. Vitamin D/ fgerfim b
3. Vitamin E/ faeIféF E
4. Vitamin B/ faeiffa B

Correct Answer :-

« Vitamin B/ faei®= B

47) National Iodine Deficiency Disorder Control Programme (NIDDCP) is being implemented by the Department of
Health, Government of India in year:/ I¥10 SIS a1 fa@dR frra=aur STdHH (NIDDCP) BT PTaf-ad+ WRA faUTT, HIRd WP
BRI o =i T B

1. Since April 1970/ 30, 1970 ¥
2. Since April 1982/ 304, 1982 ¥
3. Since April 1992/ 30, 1992 ¥

4. Since April 1998/ 31, 1998 ¥

Correct Answer :-

« Since April 1992/ 3f1d, 1992 &
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48) Which of the following factor is not a risk condition for both mother and foetus?/ Sﬂ'ﬁ AT PIRb, HIAT R iR

R, 1 & forg wifew fRufa =8 82

1. Under-weight/ YR I Y &H 811

2. Maternal Age below 15 years/ ATl &1 3 15 a9 I & g

3. Maternal Age between 25-35 years/ Tl BT 3{1g 25-35 ay g

4. Many Closely Spaced Pregnancy/ §§d &H 3=RTdl TR §R-gR THad g1
Correct Answer :-

« Maternal Age between 25-35 years/ T BT 31Y 25-35 g g

49) Which of the following is not an objective of ICDS?/ 98 ¥ ®I9 ICDS &1 U 3£.]Y -T&l 87
1. Immunization/ yferefiewRo

2. Supplementary nutrition/ Gx& TNl

3. Health checkup/ Wy Wi

4. Diabetic Nutrition/ TYHERIT GIe0T

Correct Answer :-

« Diabetic Nutrition/ AYAgRI GIwor

50) Protein energy malnutrition is due to ‘food gap’ between the:/ & i e sradTRI (ll»_b'ﬂ'q)’ F SR WIEH-SHell

WW@W &

1. Carbohydrate and protein/ WIE%B%‘C’QHU‘@:I
2. Intake and requirement/ 3<RIgUT U9 3TaRgdhdl
3. Carbohydrate and fat/ FTeg/3se g a4

4. Fat and Protein/ 991 Td Ul

Correct Answer :-

« Intake and requirement/ 3TgUl Td 3a<adhd

51) Which disease are not protected by vaccination under Universal Immunization Programme:/ SraHifie ufavafitezo
PN & Siavia 39 F o A & fav TRer T o an 82

1. Diphtheria/ femifar

2. Polio/ Tiferat

3. Hypertension/ S=R&IdTY

4. Tuberculosis/ &3 INT (CERTATRI)
Correct Answer :-

« Hypertension/ =R

52) Which of the following is not a common symptom of pulmonary tuberculosis?/ ﬁﬁﬁm%mﬁw
SITH AEI0T TEY 32

1. Wasting of tissues/ 3dd &d

2. Fever/ §UR

3. Cough and Expectoration/ @i} 3R SerTH STgx 3MT1
4. Hypertension/ S=RaddId

Correct Answer :-

« Hypertension/ =R

53) Harmful substances such as drugs or radiation that invade the womb and result in birth defects are called:/ THiT™m

H U HYP SHSIT ST ScUd B arel UgTdf, S ATge yerdf a1 fafewor enfe «1 gl STl &
1. Teratogen/ fa=ue (@1eom)
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2. Carcinogen/ $IRSH (FTRIAN)
3. Pica/ UTghl
4. Nutrition/ GISor

Correct Answer :-

. Teratogen/ fa=usH (&TEIoH)

54) Which of the following is present in thyroid gland hormones?/ aﬁﬁﬁqwﬁguﬁu%gﬁﬁ'ﬁmm%
1. Calcium/ Fferam

2. Fat/ 991

3. Iodine/ 3TAEH

4. Iron/ 3ARA

Correct Answer :-

« Iodine/ 3MASH

55) The practice of eating chalk, dirt and clay during pregnancy is known:/ Tufa®i1 & =i, ya 7 firdt @M $t snea &t

FEd &

1. GDM

2. Pica/ Uigh1
3. PIH

4. NIDDM

Correct Answer :-

Topic:- General Knowledge and Logical Ability

1) Which of the following is a poverty alleviation programme for women?/ sﬂﬁﬁﬁq afgarait %ﬁ LEARINIE S Gl Eb'l'd';b‘ﬁ%"
1. ICDS

2. JRY

3. MSY

4. DWCRA

Correct Answer :-

« DWCRA

2) A boy travels 8 km towards South from a fixed point, then turns right and runs another 9 km and again turns to the right and runs another 5 km.
In which direction does he faces now?/ T& TS®] Uh ffa fig | afaror ¥t 3k 8 frth 31 g&f 7 wvan &3k 1S 3R geor : 9 frt FY gt g wean &
SR fFR & a1 iR g 5 el 3t g6 7w wvan || o SuHT g frw femm & @2

1. South/cf&ror
2. North/3cR
3. West/ufgig
4. East/qd

Correct Answer :-
e North/3aR

3) How many State Resource Centres for Women (SRCWs) are functional under the National Mission for Empowerment of Women? / QT@’!T qfgar
iR & sierta fan afgem wsa JameM $x (Re Rk W BR A0 91 To.eR.0.5,) T 22

1.20
2.22

3.24
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4. 26

Correct Answer :-

e 24

4)
DIRECTIONS: What should come in place of the question mark (?) in the following letter series?/ fdan: Fafafad sier Joft & ware e ?) P R W 1
STE?

a, e i,o,u u 07? ¢ a.

1l.u

5) Majdoor Manjil started in the:/ HigR Hfvra aﬁgwnaﬁaﬁrl@aﬁgé &t
1. Sevagram experiment/ T TAT

2. Nilokheri experiment/ ‘rﬁ?ﬁ@’s‘? AT

3. Marthandam experiment/ mﬁaﬂ TN

4. Gurgaon experiment/ [STd TANT

Correct Answer :-

« Nilokheri experiment/ i @3 TN

6) At what rate of interest will a sum increase by 36% in 3 years at S.I.2/ f%T JTURU TS & @R R 3 996 & SIS AT

36% ¢ STE?
1.12%
2.15%
3.18%

4. 36%

Correct Answer :-

« 12%

7) Kasturba Gandhi Balika Vidyalaya scheme was implemented in the year:/ ®xdl el arferenT faemed gieT BT Fraiaa af - o T mar o:
1. 2004
2. 2009
3. 2014

4. 2016

Correct Answer :-

« 2004

8) Which one of the following diagram represent the relationship among students, singers and dancers?/ faddsadsw Gﬂ?‘ﬁf, ﬁﬂﬂﬁlﬁ, RiEat
3R TaB! & A TE B =Tl 82
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Correct Answer :-

9) Printer and scanner are examples of:/ fifex 3R DR & IeTET &:
1. Input devices/ TTYC IUDBRUT

2. Output devices/ 3T3CYc IUHRT

3. Digital devices/ f3fSred Iua=ur

4, Micro-devices/ TTZSH1-3UHRUT

Correct Answer :-

o Output devices/ 3T3CYC IUHUT

10) Which hormone is released from testes:/ ?{Wﬁ BEact | ETFIT:T wifad 'eﬁ?ﬂ %—:
1. Testosterone/é@@ﬂ?

2. Estrogen/ TS

3. Progesterone/ TR

4. Relaxin/ RfRr=

Correct Answer :-

« Testosterone/ SRR

11) The average of 6 consecutive odd numbers is 8. Find the largest number./ 6 TTdIR foww =mai &1 offad 8 %I'\‘Iﬁ El?ﬁ
W@ T B |

1.13

2.15

3.18

4. 12

Correct Answer :-

« 13

12) Oral contraceptive pills help in birth control by:/ 'ﬁ@q MRy et - & gRT MR & dag St %I
1. Killing sperms/ W\?ﬁaﬁﬂﬂﬁ

2. Killing ova/ 308 BRI P ARA

3. Preventing ovulation/ Jeif A

4. Forming barrier between sperms and ova/ WGﬁ 3R 3(Ug HIRBT F o a1e1 &

Correct Answer :-

« Preventing ovulation/ 3fSTe e

13) Who will be the Nodal Ministry for the implementation of Beti Bachao Beti Padhao Scheme? / 3¢ aa13it 3¢t UgIs divHT & wrafga+ & e Aisa
TATAY BT GT?

1. Ministry of Health and Family Welfare / TR 3R TRAR SHedTo HaTed
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2. Ministry of Human Resource Development / AFd §1eH fawRy Hamer

3. Ministry of Women and Child Development / Afg @l Td a1dt fder Hamer
4. Tt will be done jointly / I8 Jga ¥ I fawar smam

Correct Answer :-

« Ministry of Women and Child Development / Al T4 STdt fasm™ Hmerg

14) An outreach officer of the court who can help a woman in making complaints and filing an application before the Magistrate is known as:/

AT & I TS (Jueh) ATUH™ B 1 B € Sl Rrprad B9 o ARRIe & qHa 3mde ool w3 & uRRars @t Wag $T TP 8
1. Police Officer/ ferd SifIBRY

2. Protection Officer/ GR&T fTIHRY

3. Service Provider/ ¥aT TgTl

4, Perpetrator/ GISt

Correct Answer :-

« Protection Officer/ gR&T SHRBRT

15) ‘Digital India’ was implemented by:/ fsfrea g‘%m' aﬂgnaanamﬁaﬂ pin
1. Manmohan Singh/ TIaE Rig

2. Narendra Modi/ g M

3. Rajiv Gandhi/ 3sita et

4. PV Narasimha Rao/ Ht &} TRf%we1 1@

Correct Answer :-

« Narendra Modi/ Rg Arct

16) 18 men can complete a piece of work in 12 days. In how many days will 9 men complete the same work?/ 18 J&¥

T B8 B 12 Fo & 1 6 Ta 8| 3 &1 B 9 oy fha= fat & 1 H97r2
1.16 days/16 fas1
2. 18 days/18 f&a
3.13 days/13 fed
4.24 days/24 &7
Correct Answer :-
« 24 days/24 A

17) B is brother of D. D is sister of E. E is brother of F. How is F related to B?/ B, D &1 HT$ 81 D, E 31 98 ¢ E, F &1 41$ 81 F, B ¥ %9 voR @R

1. Brother/’l-ﬂ’sF

2. Sister/dg
3. Brother or Sister/HTS TT §g=

4. Data inadequate/SICT Kl

Correct Answer :-

« Brother or Sister/'l-l'l'sL RIEE]

18) At what speed does a man walk, who passes through a distance of 1500 meter long in 3 minutes?/ 1500 Hex a5t
8 @t 3 firre # T T & fog = 9 e« gl

1. 25 Kmph /25 T+ ufg 9
2. 20 kmph /20 fHft gfa g
3. 15 kmph /15 T ufa 9
4. 30 kmph /30 Tt gfa g

Correct Answer :-
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« 30 kmph /30 &4t ufa e

19) RAM in reference to computer stands for:/ X F gl ¥ (RAM) T RT TR
1. Random Awareness Memory/ YEH T AR

2. Read All Memory/ s sifer ARt

3. Read Any Memory/ s it AR

4. Random Access Memoryﬁ%‘q Qﬂ'\qﬂﬁ'ﬁﬁﬁ

Correct Answer :-

« Random Access Memoryﬁ@'ﬁ QH%T-I AR

20) ‘Ctrl + A’ depicts:/ ‘Ctrl + A’ uafkiam %:
1. Cut/ e

2. Select/ Jade

3. Paste/ e

4, Save/ I

Correct Answer :-

« Select/ Iad

21) The revolution started for food grain increase during 1966-67 was:/ 1966-67 & GRT- WA ITe 3 3R Pt Tt Hif-
1. Yellow/ ik

2. White/ &d

3. Green/ Rd

4. Blue/ B

Correct Answer :-

« Green/ 8Ra

22) Which among the following does not manufacture digestive juices?/ sﬂﬁﬁﬁ:‘ﬂﬁw ™ Hﬁaﬂﬁ%‘-’
1. Liver/ a%d (f@R)
2. Kidney/ 3% (T[&f)
3. Stomach/ 3THR

4. Pancreas/ AR™

Correct Answer :-

« Kidney/ 3@ (g

23) DIRECTIONS: In question given below select the related letters from the given alternatives./ frda: = ﬁ'E M uy ﬁﬁq Ry fowe &  wefta
3&Rl B gfT |

JLNP : OMKI : : SUWY : ?
1. MLKI
2. PLHD
3. XVTR

4. PGHI

Correct Answer :-

¢ XVTIR

24) DIRECTIONS: Find the Mirror image of the given group of letters./ frdan: fegmu < H g &1 ot yfafar g9 +¥1
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A
VINAYAKA |
B

1. INVAYAKA

2. AKAYANIV
3. ANAYAUIV
4. NIVYAAKA

Correct Answer :-

. AJNAYAUIV

25) The headquarter of ICAR is situated at:/ ICAR &1 J&ITed ... A fRag-
1. Bhubaneswar/@%{?

2. Lucknow/ dE1%

3. Patna/ gcHl

4. New Delhi/ 7 faait

Correct Answer :-

« New Delhi/ :|'§ et

26) The fourth international women'’s conference was held in:/ =T SRIPT Afgen ww e T Sraifora gaim ur:
1. Mexico/ et

2. Beijing/ ST

3. Copenhagen/ PIYTIH

4. Nigeria/ :ﬂﬁﬁﬁﬁm

Correct Answer :-

« Beijing/ IfSHT

27) The ratio of cost price and selling price of an article is 2: 3. The profit percent is:/@ﬂﬁﬂ&ﬂﬁwﬁﬂm 2:
3 % 3rgurd § {1 A1 uferwrd g

1. 30
2.25
3.50

4.60

Correct Answer :-

28) Count the number of triangles in the following figure./ fra anqsﬁi ﬁﬁ'{[\'xﬁ B T= Wﬁ |

1.6
2.7
3.8

4.9

Correct Answer :-

e 8
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29) MS Word is an example of:/ E'ITIZ'\'TEEE BT TH 3Gl ol %:
1. Application software/ Gﬁ’mﬂﬂ (Qf@ﬁﬂﬂ) TledmR

2. System software/ Rrew gigeam®

3. Operating system/ 3ATQRfT R

4. Translating programme/ Wﬁm

Correct Answer :-

« Application software/ 3{IVANT (TRTHRH) WiFCATR

30) Krishi Vigyan Kendras transfer technologies to:/ q"ﬁ' faEI'F-T o - &) UreNffEay &1 sFarur m%
1. Farmers/ gt

2. Farmwomen/ yfgern famt

3. Both of the above/ IR HT

4. None of the above/ SR H I ﬁ% e

Correct Answer :-

« Both of the above/ IR SHY

31) The ratio of A to B is 4: 5 and that of B to C is 2: 3. If A is 200, then C is:/A &1 B & 3UId 4: 5 § IUT B &T C A 3UTd 2:
3813 A, 200 & TR F Y € fpaA & aRTaR B

1.100
2. 200
3.375
4. 400

Correct Answer :-

« 375

32) Tiny finger like projections in the small intestine are called:/ DIt SAfd P ?%TGI’{[W@@W _Tﬁgﬁl’a%l
1. Villi/ geaigR (faars)

2. Anus/ TaT

3. Rectum/ HAR™

4, Bile/lU
Correct Answer :-

« Villi/ geATPR (Fas)

33) Which of the following schemes emphasizes more on children in need of care and protection, juveniles in conflict or contact with the law and

omervulgga%,ble children? / 7 & 3 SR i1 & arurdf g1 R W S8 ufrufadt & 789 aTd TR Td W F axgdar ard qur fafty farfea v

1. National Child Health Program / Q@HWWW

2. Integrated Child Development Services / THf-Id STet fder TierT
3. Integrated Child Protection Scheme / THfdhd ST TR&UT AT

4. None of the above / IRed o @ﬁﬁ Bl

Correct Answer :-

« Integrated Child Protection Scheme / TRfdd aTe TREMOT AT

34) The computer cannot perform any job without a:/ $¥cX & fa=m ﬂﬁ% P 8 B gPHar %:
1. Chip/ fom

2. Programme/ i

3. Memory/ ARt

4. Output device/ 1T T (313eye fEargw)
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Correct Answer :-

* Programme/ ol ta)

35) The most important function of education is:/ fRrem o1 ‘\qﬁﬂ?ﬁ'@f o] %:
1. Economic development/ 3iTife e

2. Human resource development/ AT e &1 fadmR

3. Industrial development/ 3eNfies IR

4. Political development/ AT e

Correct Answer :-

« Human resource development/ HFd 1A &1 e

36) The National Policy on Education was formulated in the year:/ ?T@'!T e Afa o1 “q::ﬂaﬂvr af - o fpar mar o
1. 1983
2. 1984
3. 1985

4. 1986

Correct Answer :-

« 1986

37) DIRECTIONS: Study the following table carefully to answer the question given below. /{3 fFafaf&a grRoft @1
HATTYES a1 HR -d fed T vy &1 3w g

The table represents the total number of students studying courses P, Q and R across three institutes A, B and C./

IR & 9 TR A, B 3R ¢ & 7 wrsussHl P, Q 3R R # 3reau=Ra faenffa) &Y I &1 guifar mar 21

Institutes/ AEUT=T
Courses/UTedshH
A B C
P 430 | 210 | 590
Q 350 | 280 | 570
R 370 | 480 | 380
What is the total number of students who are studying course R across all institutes?/ﬂiﬁm%w R#
SrapRd faanfiat @t wen @ g2
1. 1480
2.1230
3.1420
4. 1540

Correct Answer :-

« 1230

38) Mechanical digestion begins in the:/ if~re IR BT 3R™ - ﬁsﬁm %I

1. Mouth/ §&

2. Stomach/ 3THRI™T

3. Small intestine/ B¢t 3fid

4. Large intestine/ ¥81 3fid

Correct Answer :-

* Mouth/ §9

39) Janani Suraksha Yojana was a scheme for:/ S HqRE&T greFT . & fore s Y Tft U e ot
1. Education/ e

2. Mother Care/ AeRX BT
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3. Urban Development/ ¥ g3 o
4. Rural Developmenty ITHor fary

Correct Answer :-

« Mother Care/ AR PW

40) In a certain language ‘CLERK’ is written as ‘EOIWQ’. How is ‘TABLE’ written in that code?/ folt Hidhfa® HTST # ‘CLERK’ &Y ‘EOIWQ’ forar ST &
| ‘TABLE’ &1 I3t HruT # $4 forar smemme?

1. VCDNG
2. VCDGN
3. VDFQK

4. VDFOK

Correct Answer :-

41) The presentation package and slides are prepared by:/ mﬁf?ﬁﬂm UPe 3R WIE@ Ea| BRI AR far srar %:
1. Power point/q'TaTU'T’s"c*

2. Excel/ T

3. MS Word/ THTH 7

4. All of the above/ ijfﬁ o

Correct Answer :-

« Power point/TidaR Tige

2 What is the 50% of 20% ofz of 3600? /3600 T g BT 20% BT 50% fHa-13?
1. 480
2.570
3.600
4. 740

Correct Answer :-

« 600

43) Which of the following is a male sex hormone:/ 3=|'ﬁ o Th R = g %:

1. Insulin/ S
2. Aldosterones/ TR

3. Androgen/ g
4, Pheromones/ HIHT

Correct Answer :-

« Androgen/ TgISH

44) ATMA stands for:/ ATMA &1 RT =|TFI%:
1. Agency of Training and Management in Agriculture/ Toiil TR ST U8 AAsTie 37 e (H URI&mN T Ueier ifiyesRon)

2. Agricultural Technology Management Agency/ ThideeRd caarsl A-oHe Torar (@WWEH G@W)

3. Assessment Transfer and Monitoring Agency/ 3ERTHE TRITR TS HIHEIT Toidl (e SaRul Td FHTRHT S1fiyemvur)
4. Assessment Training and Management Agency/ 3RgHe ST T8 BAeTie ToidT (3ifbar TfiefT Ud et 3ifiieu)

Correct Answer :-

« Agricultural Technology Management Agency/ TiidreaRd SaRTaTsll H-orie Toia! (BT Henfiet ueer sifiyaor)
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DIRECTIONS: What should come in place of question mark (?) in the following question?/ fdzr: frufafa vy ® uyaras
e (2) & RIF WR 1 3T ATfRu?

[(8)2 x (15)2 + (24)2] =2

1.28
2.64
3.26
4. None of these/37H ¥ %S g

Correct Answer :-

« None of these/3H q &3 Tal

46) Emulsification of fat is carried out by:/ 99T &1 m &I grem %I
1. Bile pigments/ fo=T guiel

2. Bile salts/ o< @iqoit

3. HCI

4. Pancreatic juice/3TRTRET T

Correct Answer :-

« Bile salts/ o Aquit

47) Which of the following is the world's largest and most unique and outreach programme? / g & @ S gieET fay &1 WE@,‘T Q’Eim 3R
ST FTIHY 82

1. National child health Program / ST ST W HRIH

2. Integrated Child Development Services / THId ST fae™ e
3. Integrated Child Protection Scheme / RS ST TREOT TiorT

4. Kishori Shakti Yojana / o=t =ifet aerm

Correct Answer :-

« Integrated Child Development Services / THad SId ™ Do

48) The largest gland in the body is:/ A9 WA mﬁ Ify %:
1. Pituitary gland/ 9iqy IfY
2. Pancreas/ STAR™

3. Liver/ 34 (R1aR)
4, Adrenal gland/ 3Rigas® TR

Correct Answer :-

« Liver/ 354 (IaR)

49) Which answer figure will complete the pattern of the question figure? / faddsa @ s &I‘ITI?IH’H Glﬁw'ﬁf?ﬁ Eﬂf Hf?

Question Figure /U2 3TE{d  Answer Figures /5t7 3 faa

\\
&) CER

@ ® @ @

x)
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Correct Answer :-

50) DIRECTIONS: Select the one which is different from the other three responses./ frd: 99 farer &1 9= &3 S g i fawent | e %l
1. Camel/ $¢

2. Horse/ Eﬂ@T

3. Bullock/ S

4. Cat/ feeit

Correct Answer :-

. Cat/ﬁc_vﬁ

51) Central Social Welfare Board at present is functioning under the administrative control of:/ TR § HET JHS STl SIS & YIS I
o= & e & SR IR

1. Ministry of Social Justice and Empowerment/ TS =TT Td 31T HaTer
2. Ministry of Human Resource Development/ 4 ITeH fdwm daed
3. Ministry of Women and Child Development/ Hfge Td &1 fdem e

4. Ministry of Tribal Affairs/ SFSTIial 1 HAIGT

Correct Answer :-

« Ministry of Women and Child Development/ A8dT T¢ S1d fde ™ H1ad

52) Multimedia is a:/A ST Ts ____ #:
1. Technology/ TeAfa

2. Software/ TeaR

3. Media/HIfS1 (F1ez®)

4. Popular computer game/ddh T FHTEIER I

Correct Answer :-

« Technology/ TNt

53) Till what age does the National Child Health Program aim at intervening and identifying defects at birth, deficiencies, diseases, development
delays including disability? / Jf¥9 aTd FaTRA FTIFH U ArHITT & o af 3 99 q@ faeeimar wfed o=, @, I, e fds & sru R
B UEAT U9 RAT B BT el 3@ 82

1.6

Correct Answer :-
« 18

54) DIRECTIONS: What should come in place of question mark (?) in the following question?/ fid=r: frafafEa uy #
yara® g (2) & R W AT 3T A2

1800 7 9%2=7?
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1. 400

2.200

3.100

4. None of these/S7H ¥ ®Is g
Correct Answer :-

« 400

55) Central social welfare board was setup in October: /F<q THIS HedTor S T R gy o Y Tl ot
1. 1951
2.1953
3. 1955

4. 1957

Correct Answer :-

e 1953

Topic:- Managerial Skill

1) Google and yahoo are:/ Waﬁ?m'ﬁ'_%
1. Search engines/ @S §5

2. Operating system;/ 3fToRfeT Ren

3. Input devices/ ST4c U

4. Control units/ erd gHe

Correct Answer :-
« Search engines/ @IS 3519

2) Chairman of Niti Aayog is:/ Hfa 3MTaRT & 3remes §:
1. President/ IrgUfd

2. Governor/ JsauTd

3. Finance minister/ fa @3t

4. Prime minister/ UHTTH

Correct Answer :-

« Prime minister/ T

3) Classification of extension method into individual, group and mass is based on:/ fawR faf¥ &1 =fe, Tyg vd wdo &
qffepzor W 3myTia @

1. Form/ ¥4

2. Use/ SUART

3. Number of people contacted, SHftd safeTal &t T=m
4. Periodicity/ 3fafidmar

Correct Answer :-

. Use/ 394

4) Five year plan is a:/ GIq4[g G451 T 2
1. Perspective plan/ GRbied demT

2. Medium term plan/ AEH-BIA® AT

3. Adhoc plan/ e Ao
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4. Contingent plan/ 3TeT&T® TSI

Correct Answer :-

« Medium term plan/ HYY-HIfers drorT

5) Monitoring is done at the end of a:/ & 3/ # foRT= &1 w7t &:
1. Programme/ DA

2. Project/ UfR@eH

3. Both of the above/ IWRIad GHI

4. None of the above/ IWRad & ¥ HI$ g

Correct Answer :-

« Both of the above/ STRIad Gl

6) The first KVK of India was established at:/ URa ¥ Tgad s fAgm bt A gsd:
1. Pondicherry/ Tifge™t

2. Lucknow / RT3

3. Pantnagar/ Ud1"R

4. Allahabad/ 28Tl

Correct Answer :-

« Pondicherry/ Tifga¥

7) Communication is an organization flows:/ fPfl TEIAIUR _ Wae waT 8:
1. Downward/ I @1 3R

2. Upward/ SR &1 3R

3. Horizontally/ afost fem &

4. All of the above/ 3udad qaft

Correct Answer :-

« All of the above/ Iudad gt

8) Chronological order of activities is otherwise known as:/ Wﬁlﬁﬁlﬁ%mﬁiﬁ_ ft ped &
1. Plan of work/ & &1 areHT

2. Content of plan/ ToHT &1 [Ao-a%]

3. Calendar of activity/ Tfafafd iR

4. Programme of activities/ nfafaferay &1 Hrfpa

Correct Answer :-

« Plan of work/ BT BT IS

9) A person who steps up in times of crisis, and is able to think and act creatively in difficult situations is a:/ ag sfe

S} Yepe S THY A 3T AT § SR Sie-T ufvRuferal # Temeie <1 @ 9iwm 9 »rd e # g9 g1 8, 1 Searar 82
1. Master/ HIR&X

2. Boss/ a9

3. Leader/ Adl

4. Successor/ ITRIAHTRY

Correct Answer :-

. Leader/ 9l
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10) BR Mehta team stimulated an active consideration of which of the following through democratic bodies in India:/

R AdT &0 A HRA & APpar-we el & ATEd 9 379 9 frad afpy faare o sera fear i
1. Decentralization/ fad=giaur

2. Stabilization/ fRR®RTT

3. Centralization/ FaI®xUl

4. Mobilization/ T&S[eTd

Correct Answer :-

« Decentralization/ fd&=iaur

11) A Blue print for action is:/_mﬁrﬁfﬁfﬁm/%ﬁ %:
1. Plan/ ST

2. Programme/ EapEa)

3. Project/ afRaismT

4. None/ s gl

Correct Answer :-

. PIan/@ITrFIT

12) A rolling plan is plan for:/ WaI§t o1 &1 TIw=1 gidl 8:
1.1 year/1 EL
2.2 year/za'ﬁf
3.3 year/3 ay

4. Year to year basis/ Ty gy TR

Correct Answer :-

« Year to year basis/ iRy IR

13) A Co-operative society is an example for:/ GgPRI AfAfd &1 I3ER0&:
1. Formal group/ 3= T

2. In formal group/ Gﬁﬁmﬂ'{é

3. Primary group / Wdfi® 995

4, Territory group/ UTGRI® Tg

Correct Answer :-

« Formal group/ 3Nu=nike® T

14) The gap from where we are to where we want to go:/ Gﬁ@%ﬁ%ﬁﬁ?ﬂﬂﬂlﬁﬁ%%ﬁﬂﬁ GI?R%
1. Planning bridges/ AT ¥q

2. Functional bridges/ forard® g

3. Outline/ FUET

4. Rotating bridges/ qpﬁﬁg

Correct Answer :-

« Planning bridges/’ﬂﬁl‘ﬂ@ﬂ

15) A good extension programme should be:/ er%ﬁwnmﬁamﬁ_ﬁmaﬂ%q
1. Flexible/ Sreftal

2. Rigid/ €¢

3. Both of the above/IuRiad T+t
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4. None/ &g =gt

Correct Answer :-

« Flexible/ wrtan

16) In pa%ent education program, Video Films are used as:/ 3fiuras fRien iy § dfsa) el o1 Sua & EIH
fopar <irar 3:

1. Group approach/ IHfg® UG

2. Individual approach/ JafdTs U

3. Mass approach/ T TGf

4. None of the above/ IURIad # I P15 a1

Correct Answer :-

« Group approach/ ST UGkt

17) An idea, practice or object perceived as new by an individual is called:/ fo=il aafd gRT T4 & TU H 3@ T fHdl fmrw,
ST T a%g Bl Ped &

1. Invention/ 3MA&BR

2. Innovation/ FdER

3. Intervention/ g%I&Y
4. Noble idea/ Hg™ fqaR

Correct Answer :-

« Innovation/ dER

18) Community Development programme was having a basic objective of:/ wmmm GH‘EIR‘I-ET{%'QH l:
1. Food for people/ @ & forg HieH

2. Development of people/ Al T fawT

3. Growth of people/ @1l ¥ gfg;

4. Education of children/ s &1 fRia

Correct Answer :-

« Development of people/ Al T AT

19) Programme planning is a:/ Wﬁ"ﬁﬁl’-‘-{w_%:
1. Decision making process/ fAofa a7 @t ufsear

2. Creating process/ a1 Ufshal

3. Evaluating process; Jedid= Uithar

4. Monitoring process/ FATRIt ufgean

Correct Answer :-

. Decision making process/ fufg o & ufsean

20) Basic unit of society:/ THIS &I SMURYA gPIS:

1. Neighbourhood/ WU@F

2. Group/ 9Hg
3. Family/ gRar

4, Community/ 94crI

Correct Answer :-

« Family/ 9RaR


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai2y7 Eoogle Play

21) The basic unit of development under IRDP is:/ IRDP & 3(did fa®Td & @ 5318 &:

1. District/ forem

2. Village/ Titg

3. CD block/ €l =il

4. Family/ 9RaR

Correct Answer :-

« CD block/ ¥t sdifes

22) Indicative planning started from:/ Wﬁwaﬁmmmﬁgﬁ:
1. Eighth plan/ 3ad} e
2. Seventh plan/ Jrad groHT
3. Sixth plan/ T3 AreHT

4. Fifth plan/ Gf=at re T

Correct Answer :-

« Eighth plan/ 3Tt dreHT

23) Cone of experience was devised by:/ JHAIF HT MfaspR A fmar am:
1. Rogers/ ord

2. 0.P. Bhatnagar/ 3.4}, YedrR

3. A.A. Reddy/ TT gl

4. Edger Dale/ ToR S

Correct Answer :-

« Edger Dale/ ToR €@

24) A small group comprised of:/ Bl UYg I fraer Ta1 @
1.15-25 persons/ls-zsm

2. 25-50 persons/25-50 Sfaaal

3.50-70 persons/50-70w‘%ﬂﬁ

4.70-100 persons/70-100 Sfaar

Correct Answer :-

« 15-25 persons/15-25 SAfaqal

25) Planning commission has been renamed as:/ TSI SRR &Y faAT 4T =747 719 &:
1. Neeti Aayog/ =ifer 3mamT

2. Neeti Commission/ Hifd &HIRH

3. Neeti Mission/ Ifd T

4. Neeti Yojna/ itfa arerr

Correct Answer :-

« Neeti Aayog/ e 3mmT

26) A person is called an adult at an age of:/_____ a4 3} 3 | =fed &) 99w HgT o1 &
1. 15
2.18
3.21

4.25
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Correct Answer :-

27) WPAN stands for:/ WPAN &T QT ATH &

1. Wireless Parental Area Network/ mmmw
2. Wireless Personal Area Network/ JRReH U URAT Aead
3. Wireless Personal Arid Network/ arRe T TRS Jead

oo

4. Wireless Physical Area Network/ aERaS ftpfore e wiam Aead

Correct Answer :-

« Wireless Personal Area Network/ aRRaY Gi-d Tfar Head

28) Based on the recommendation of which committee panchayat raj institution was formed?/ fog afufa &t GITII'FTQ?
SR TR YTt TSl TR BT TS 3T UT?

1. Ashok Mehta committee/ 3=l Hgdl I
2. Hanumantha rao committee/ §JA= 1d AT
3. Dantwala committee/ Giara AT

4. Balwant Ray Mehta committee/ mem

Correct Answer :-
. Balwant Ray Mehta committee/ Sqd~ I NedT A

29) By whom the first line system of extension in India is controlled by:/ HRRd ¥ fawR &1 ugan 341 a0 gt frafe

1. ICAR institutes / SAUs/ ICAR HRIF / SAU

2. Ministry of agriculture, GO1/ HY T=dTeR, HRA IRBR
3. Non-government organizations/ TR-TRHRI T3

4. Private extension agencies / feit fowaR et
Correct Answer :-

« ICAR institutes / SAUs/ ICAR T®IHI / SAU

30) Community Development Programme was started:/ Wqcid fAbTa S 3R¥ g3 UT:
1. Before independence/ Waadr 4 Ugd

2. After independence/ Wdadl & 91

3. During independence/ WAl P SR

4. None of the above/ IWRiad H J &S gl

Correct Answer :-

« After independence/ Id-ddl Cokc |4

31) An out of school system of education of rural people:/ I @I BT e B v faeey & arew # tsfd:
1. Extension/ fa&R

2. Management/ UsitH

3. Participation / FgHIRTT

4. Communication/ IR

Correct Answer :-

« Extension/ R
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32) Printer is a/an:/ iR &

1. Input device/ fafafd o= (F4C %E'Igﬁ)

2. Output device/ 1T 7= (3Teye fEarzw)
3. Search engines/ @ISl 3019

4. Operating system;/ 3fToRfeT Ren

Correct Answer :-

« Output device/ F0 o= (33eye fEarsy)

33) NABARD is a bank for development of:/ =l'ITsI1€', Q?ﬁﬁv‘mib'ra'ﬁ%:
1. Housing/ 31ary
2. Education/ e

3. Agriculture/ $TY

4. Construction/ Xd-

Correct Answer :-

« Agriculture/ HY

Topic:- RC_Managerial Skill

1) DIRECTIONS: Read the passage and answer the questions that follow./ fE=1: frafafa ez & eargd® g 39 =
fea T sgfawed U=l A A6t fawed &1 97 B3|

A computer is a general purpose device that can be programmed to carry out a set of arithmetic or logical operations
automatically. Since a sequence of operations can be readily changed, the computer can solve more than one kind of
problem. Charles Babbage was an English polymath who gave the concept of a programmable computer. A computer
network or data network is a telecommunications network which allows computers to exchange data. In computer
networks, networked computing devices exchange data with each other using a data link. The connections between
nodes are established using either cable media or wireless media. A local area network (LAN) is a group of
computers and associated devices that share a common communications line or wireless link to a server. Typically, a
LAN encompasses computers and peripherals connected to a server within a small geographic area such as an office
building or home. A Controller Area Network (CAN) is a vehicle bus standard designed to allow microcontrollers and
devices to communicate with each other in applications without a host computer. A metropolitan area network
(MAN) is a network that interconnects users with computer resources in a geographic area or region larger than that
covered by even a large local area network (LAN) but smaller than the area covered by a wide area network (WAN).
A computer network that spans a relatively large geographical area. Typically, a WAN consists of two or more local-
area networks (LANs). Computers connected to a wide-area network are often connected through public networks,
such as the telephone system. They can also be connected through leased lines or satellites./

PSR TP TG TS aTen I gial @ o Tafed U d &3 Siaordta ar arfdhe wfhang w34 & fig wenfira fan o awar 2159f%
fparsit & IIerd B TR 9 dull A TedT ol Hdl 8, 3fd: FIYeR Uh § TP YHR &1 JHWTE g H JobdT 8 1A 999 U 3w
gfawdi-fagr & Rl Wi 8 Io7 9 FreR $1 FURYT IR Bt IFTER AT (ead) a1 ST Ao T geaaR! deird
RAFFPI Acad) EraT & St FrYER] Bl 2T $ AMSH-YGT Bl FrauT a7 2 1H7geR Seiral #§, TolTrd Sgfet g+ U 3T Rid 31
JUHT PRb TD-gelR & AT ST BT TG-S 4 2 1SMRA (A1) & P SR, e ATeaw 91 SR TTSH & IUGHT kT RITdT
o5 9T € Ieitopd i Aead (LAN), $RER) 3R e Il T U qUE idT @ R o1 U AT Y=k @131 a1 IR ab BT AR 1o gielt
TIMMIER W, a4 (LAN) Tt B v &=, 9 st srafag vaq a1 ) & s ol gk A 98 f 3R ufvdhta o=t & firaee
AT 8 IPeiar Tfdr Aead (CAN) TP aTe a0 TS ¢ ol 8ve e fadia Srgwaeit o aTgshie o) Siv vl &Y SMTud § Wk 3 ot
gy 33 F1 =R | fewmga forar mar g [AuiRied uhar Aead (MAN) U HoTd (Aead) 8 o favma died uhear Aead (LAN) | 93, IR 9158
TRAT Aead (WAN) A BI Wi 87 Suaiaarsit &) Srges TH1eHl § faquiid $3dT 8106 $igeR Aead ol igTed g8 HMfas &
T T ST B 18R W, 39 (WAN), & T 3if¥e diehd Tfear Aeas! (LAN) @ firaes 9941 § 1975 TRAT Acad | I $reR U: Arasie
Aeqmt, O TARWH RiRed, & W I 93 g §18= divs arg-t a1 3uel & Areny | +f Siret w1 W 21

An English polymath who gave the concept of a programmable computer:/ % 3R Tgfawdl-fagr & frgia uhnfire
Tl TP aTd HIEX Bt AGURYN Y B1 A

1. Charles Darwin/ B ISICE
2. Charles Babbage/ CIECE
3. Westley/ 3%d
4. Leagans/ g

Correct Answer :-

« Charles Babbage/ Icd Sa9f
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2) DIRECTIONS: Read the passage and answer the questions that follow./ &1 fRuferfaa meiwr &) earyds ga 3a& 9
e T sgfawedt uxAl A A6t fawed &1 9 B3|

A computer is a general purpose device that can be programmed to carry out a set of arithmetic or logical operations
automatically. Since a sequence of operations can be readily changed, the computer can solve more than one kind of
problem. Charles Babbage was an English polymath who gave the concept of a programmable computer. A computer
network or data network is a telecommunications network which allows computers to exchange data. In computer
networks, networked computing devices exchange data with each other using a data link. The connections between
nodes are established using either cable media or wireless media. A local area network (LAN) is a group of
computers and associated devices that share a common communications line or wireless link to a server. Typically, a
LAN encompasses computers and peripherals connected to a server within a small geographic area such as an office
building or home. A Controller Area Network (CAN) is a vehicle bus standard designed to allow microcontrollers and
devices to communicate with each other in applications without a host computer. A metropolitan area network
(MAN) is a network that interconnects users with computer resources in a geographic area or region larger than that
covered by even a large local area network (LAN) but smaller than the area covered by a wide area network (WAN).
A computer network that spans a relatively large geographical area. Typically, a WAN consists of two or more local-
area networks (LANs). Computers connected to a wide-area network are often connected through public networks,
such as the telephone system. They can also be connected through leased lines or satellites./

PIIER TP AT YA aTd] T BlaT @ RO Wa1ierd 0§ &% SO a1 dTfdhe Tfpard 34 & fore wnfira fan s awar g 19
Wfpa1Sil & Sy B T I Aol A TGE W1 HPAI &, 3d: HE Th A S YR Pt THETY §6 B HPal ¢ 110 949 T 313
gfawd-fagr & R Wnfia ) T@7 3 e $ TURYT IR Bt | IFTHER AT (ead) a1 ST Ao Th geaan! derd

R BHIHTA Aeadh) BT & o FIER] I 32T & SATH-YGT Bt JIAuT 3T 2 1HTHeR TWTdl §, WeATierd HIf I U 3T 3w a1
JUTHT PRb Th-gaIR B AT ST BT TG-S R & 13MHRA (A1) &b dHa & Fa=, e ATeaH 91 SR ATSH & IUHT IRT RITdT
ford 9T € 1etopa T Aead (LAN), TR 3R was Tl 1 U AUE idT @ o die U AT TaR a13-1 91 R a% BT a1 fob gelt
TISMMIER W, 4 (LAN) Tt B Wi g=, S it srafag vaq a1 @R & SR et Wk I 8 wrges) oiv uivehg gt & frae?
T 2 IFeIerR TRAT Aeadh (CAN) U d16- 99 HIF® ¢ o1 giRe Hrgex fagh srguai # Argpitelar] o Iwal $I MUy § YaR &4 &1
gy 3 F1 =R § fewmga forar mar g [AuiRied whar Acad (MAN) T HoTd (Aead) & S fawma diea uhvar Aead (LAN) | 98, TR 9158
TRAT Aead (WAN) d BIe HiTiee 89 # Suaiadarsii &) Srge SH1eHl 9 aquiid $3dT 81U $IgeR Aead ol iaTPpd g8 HMias ax
o Tl ST B 13MWER |, 39 (WAN), & a1 3if¥e diehel Tfvar Acas! (LAN) @ fireaes aaT 8 19715 TRAT Acad | I $rgeR Ua: Ardaie
Aeqmt, S TRHF Rived, & w1 I 92 g 815 divs arg-l a1 Suiel & Areny § Y Sirst o 9 81

LAN stands for:/ LAN I QRT ATH %-

1. Land Area Network/ &g TfRaT Jead

2. Local Area Network/ ierd TRaT Aead

3. Local Arid Network/ @ed TR Jead

4. Levelled Area Network/ WWW

Correct Answer :-

. Local Area Network/ died TRAT Sead

3) DIRECTIONS: Read the passage and answer the questions that follow./ frdar: Fafafed s meﬁ
o2 T sglawad wel & w6t feew o1 9g o3

A computer is a general purpose device that can be programmed to carry out a set of arithmetic or logical operations
automatically. Since a sequence of operations can be readily changed, the computer can solve more than one kind of
problem. Charles Babbage was an English polymath who gave the concept of a programmable computer. A computer
network or data network is a telecommunications network which allows computers to exchange data. In computer
networks, networked computing devices exchange data with each other using a data link. The connections between
nodes are established using either cable media or wireless media. A local area network (LAN) is a group of
computers and associated devices that share a common communications line or wireless link to a server. Typically, a
LAN encompasses computers and peripherals connected to a server within a small geographic area such as an office
building or home. A Controller Area Network (CAN) is a vehicle bus standard designed to allow microcontrollers and
devices to communicate with each other in applications without a host computer. A metropolitan area network
(MAN) is a network that interconnects users with computer resources in a geographic area or region larger than that
covered by even a large local area network (LAN) but smaller than the area covered by a wide area network (WAN).
A computer network that spans a relatively large geographical area. Typically, a WAN consists of two or more local-
area networks (LANs). Computers connected to a wide-area network are often connected through public networks,
such as the telephone system. They can also be connected through leased lines or satellites./

HIEY UH WU WIS aTel I+ gl @ Fo Tarierd U § &8 (oI a1 difd e Wihard w1 & fog unfira forar s g 8 19f%
Tfeparait & SIhH B TAAT T AU W TGET T ThdT 8, 37d: TR TP A D YHR Bt THHTE g6 B APl 2 [T 999 T 6
ggfaudl-fagr 3 g1 Mg 8 To- ard FreR $1 TURYT IRgd Bt Gt FER TuTd (Aedd) a1 Sl AT Uh geaarn] durd
AP PR Aead) ST & o eI B T & MSTH-USTH BT JlaeT a7 8 IFTgeR Tural &, TuTierd $rgfeT g U Sel fid a1
IUGRT HIF UD-ga &A1Y ST BT TG-S B & 13Tt ([15) & §H & $AaRM, Had WTy 91 IdR ATSH S ST gIRT AT
5 o ¥ I ea TRAT Aead (LAN), TR 3R was Il 31 TP 9 gia1 § s d Ue a1en §uR arg a1 9 9% 3t 3aR e gt
TIMWER R, & (LAN) et Bt imifes 87, aﬁwmmmw%?mwmkﬁg%mﬁsﬁwﬁmﬁﬁﬁﬁw
AT 8 IFgier TRAT Aead (CAN) U aTe- a9 U 8 O 8ive Frgex I Srgwaieit o argshideien! SR vl oY SiTud | IR 33 ot
gfaur 33 o1 =¥ T fEwrsa fovar wan 3 1Avifees ufear Aead (MAN) T TuTd (Aead) § &) fana diea Tiar Aead (LAN) | 93, R d158
TRAET Aeadh (WAN) | B Hiifore & & Suaiaarsi @ $rger TQTeHl § Siawafid #dl & IUP $3e Aead o SUeThd a8 Wi &
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T Tar gaT B ISR W, 39 (WAN), 3l T 3fUe dida uiar Aeas! (LAN) ¥ firae 94T 8 1a73s TiaT Acad § 98 F3eR UY: rdei~ie
Aead!, 9 TE I Riew, & A1erd A 93 g1 815 s argAl a1 Suuel & ureaw | it SiYeT o g g1

A computer network or data network is a telecommunications network which allows computers to:/ Wm

(ead) a1 e HATH T qRAant §ore @HeRF1Pe ead) ot e s prgedi vt ot gfaw 4 €
1. Exchange data/ 321 & JHEH-TeH

2. Delete data/ eI fieH

3. Refer data/ S¢1 ¥Ud &

4. Review data/ STT &1 THiel

Correct Answer :-

« Exchange data/ 32T & JHeH-UeH

4) DIRECTIONS: Read the passage and answer the questions that follow./ o= Fufafea s meﬁ
o T sgfawad wel & wEt Reww &1 9a= w3

A computer is a general purpose device that can be programmed to carry out a set of arithmetic or logical operations
automatically. Since a sequence of operations can be readily changed, the computer can solve more than one kind of
problem. Charles Babbage was an English polymath who gave the concept of a programmable computer. A computer
network or data network is a telecommunications network which allows computers to exchange data. In computer
networks, networked computing devices exchange data with each other using a data link. The connections between
nodes are established using either cable media or wireless media. A local area network (LAN) is a group of
computers and associated devices that share a common communications line or wireless link to a server. Typically, a
LAN encompasses computers and peripherals connected to a server within a small geographic area such as an office
building or home. A Controller Area Network (CAN) is a vehicle bus standard designed to allow microcontrollers and
devices to communicate with each other in applications without a host computer. A metropolitan area network
(MAN) is a network that interconnects users with computer resources in a geographic area or region larger than that
covered by even a large local area network (LAN) but smaller than the area covered by a wide area network (WAN).
A computer network that spans a relatively large geographical area. Typically, a WAN consists of two or more local-
area networks (LANs). Computers connected to a wide-area network are often connected through public networks,
such as the telephone system. They can also be connected through leased lines or satellites./

HIER U WU WIS aTel I+ g1 @ FoT TWarierd U § &g Aoy a1 difd e Wihard w1 & for unfira forar s g 8 19f%
fpaTSil & Sy Y AT 9 Ao A TG ST HHT &, 3: HWILR T A D YR Bt THWTY § B Pl ¢ 1A 99 Tab 313
ggfavdl-fagr & e Mg 8 ToA ard FHeR $T TURUT IRqd Bt Bt IHER TuTd (Aedd) a1 ST YT Uh geaarR] Jerd

AP PR Aead) g1 & o T P 3T & MGH-YSTH BT Jrae a7 ¢ IFTgeR Tural &, TeTierd $rgfeT g U Sel fid a1
IUERT HIF UD-ga &b HTY ST BT TG-S B & 13Tt ([@15) & §H & $AaRM, Had TTy 91 SaR ATSH S ST gIRT AT
5 wmd & 1ea Tfivar Aead (LAN), FFERT SR wws Il 31 TP HHE a1 § o ol T |1gh 4R a1 91 96 a9 ot 3R e gt
TIMER R, & (LAN) et Bt i 87, ﬁﬁwmmmw%?mWW%g%mﬁsﬁwﬁmWﬁﬁw
W%H@WWW(CAN)WWWW%WWWWW [ ATgshdeIaR] SNY vl B SITU | IR I Bt
giaur 37 &1 =¥ T fEwrsa fovar Tan g 1Auifee ufear Aead (MAN) U6 ToTd (Aead) § &l faxma diea Tiar Aead (LAN) | 93, R d158
TRAET Aeadh (WAN) | B Hiifore & & Sualaars @ $rger TqTeHl § Siawuafid #dl 8 IUP $¥geR Aead o SUeTpd a8 e e
T el BT B 13 AR W, a9 (WAN), &l T 3if¥e diehd Tfvar Aeasdt (LAN) A fiaes 9941 ¢ 19715 TRAT Aead | 9 $HeR UI: Jrauie
Acaw!, I THEI Red, & 719w @ S 81 €18 divs argHl a1 Swel & aread @ WY sive1 o1 Wb &1

The network that interconnects users with computer resources in a geographic area or region Iarger than that

covered by even a large local area network is:/ 98 9¢a® 91 fa=md dea ufar Aead A W 78 Winfae &3 o Suaiast &t
PR T & Srqaaita e §:

1. Land area network/ 38 Tfan Acadh

2. Local area network/ died TRAT Acdd

3. Metropolitan area network/ Hertifere T Aedd
4. Wide area network/ 9138 TRam Aead

Correct Answer :-

« Metropolitan area network/ Bgifere Thar Jead

5) DIRECTIONS: Read the passage and answer the questions that follow./ f1&xr: fRafafaa e« seargde yes a& 7
fod M sgfawadt y==i & Ot fawea &1 a1 w1

A computer is a general purpose device that can be programmed to carry out a set of arithmetic or logical operations
automatically. Since a sequence of operations can be readily changed, the computer can solve more than one kind of
problem. Charles Babbage was an English polymath who gave the concept of a programmable computer. A computer
network or data network is a telecommunications network which allows computers to exchange data. In computer
networks, networked computing devices exchange data with each other using a data link. The connections between
nodes are established using either cable media or wireless media. A local area network (LAN) is a group of
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computers and associated devices that share a common communications line or wireless link to a server. Typically, a
LAN encompasses computers and peripherals connected to a server within a small geographic area such as an office
building or home. A Controller Area Network (CAN) is a vehicle bus standard designed to allow microcontrollers and
devices to communicate with each other in applications without a host computer. A metropolitan area network
(MAN) is a network that interconnects users with computer resources in a geographic area or region larger than that
covered by even a large local area network (LAN) but smaller than the area covered by a wide area network (WAN).
A computer network that spans a relatively large geographical area. Typically, a WAN consists of two or more local-
area networks (LANs). Computers connected to a wide-area network are often connected through public networks,
such as the telephone system. They can also be connected through leased lines or satellites./

PR TP AT YA aTd] I BlaT @ o Wa1ierd 0 &% SO a1 dTfdhes T 34 & fore wnfira fan s gwar 8 149
Tfspanail & Srepy B TRAGT 9 Aol F TGEl ST HdT 8, 3d: FIER TP A ATUD YHR &) THWTE 56 R THdl 8 Iared aa9 ¢ Shie
gfawd-fagr & RrEiR Wi ) Io7 3 e $ TURYT IR Bt IFTHER AT (Aead) a1 ST Aol Th geaarn! derd
RAPR PR Aeadh) BT & S FIER] I 32T & SATH-YGT Bt YT T 2 1HTHR TWTdl §, WATierd HIfT T U 3l i &1
IUIHT PRb Th-galR & AT ST BT TG-S I 8 13T (A1) & dHa F Fa=e, Sadd ATeaH 91 SR TTSH & IUGHT kT RITdT
o5 9T € 1etepa i Aead (LAN), TR 3R was Il 1 U AUE iaT @ o oI U ATl TR @131 91 WaR a9 BT a1 fo7b gielt
TIMMIER W, 4 (LAN) Tt B wiiferes &=, 9 st srafag vaq a1 R & s [l gk A 98 f 3R ufvdhta o= @ firaee
AT 8 IPeiar ufidr Aead (CAN) TP aTe a9 TS ¢ ol 8ve e fagia Srgwaiit o uTgshide o) ST vl &Y SMTud ® Wk $ ot
gy 3 F1 = | fewmga forar man g [Auified whar Aecad (MAN) U HoTd (Aead) & o fawma died uhear Aead (LAN) | 98, IR 9158
TRAT Aead (WAN) A BIE HINTa® & § Sualadrail & Srgex FA1eHT @ idaaiia Sl 8 1T Hrgex Aead sl UaTHd 98 HIIf® &
o T ST B 13MHER W, 39 (WAN), & a1 3if¥e dieha ufear Acas! (LAN) @ firaes 9941 8 1915 TRAT Acad | I $reR Ua: Arasie
Aeqmt, O TRHIH RiRed, & W I 93 g 818 divs arg-l a1 3uel & Areny | +f st o 9 21

The network that consists of two or more local-area networks (LAN’s) is:/ @8 ¢ad Sl & 4T 3ife did TAT Acasd! (LAN’s)
3 frae T a1 @

1. Land area network/ 8 Tfan Acad

2. Local area network/ @i TRAT Aeadh

3. Metropolitan area network/ Heruifere T Aedd
4. Wide area network/ a3 URaT Aead

Correct Answer :-

. Wide area network/ 913 TRAT Acad

6) DIRECTIONS: Read the passage and answer the questions that follow./ frdar: fFafafae e s meﬁ
fea T sgfawedt uxAl A A6t fawed &1 9= B3|

A computer is a general purpose device that can be programmed to carry out a set of arithmetic or logical operations
automatically. Since a sequence of operations can be readily changed, the computer can solve more than one kind of
problem. Charles Babbage was an English polymath who gave the concept of a programmable computer. A computer
network or data network is a telecommunications network which allows computers to exchange data. In computer
networks, networked computing devices exchange data with each other using a data link. The connections between
nodes are established using either cable media or wireless media. A local area network (LAN) is a group of
computers and associated devices that share a common communications line or wireless link to a server. Typically, a
LAN encompasses computers and peripherals connected to a server within a small geographic area such as an office
building or home. A Controller Area Network (CAN) is a vehicle bus standard designed to allow microcontrollers and
devices to communicate with each other in applications without a host computer. A metropolitan area network
(MAN) is a network that interconnects users with computer resources in a geographic area or region larger than that
covered by even a large local area network (LAN) but smaller than the area covered by a wide area network (WAN).
A computer network that spans a relatively large geographical area. Typically, a WAN consists of two or more local-
area networks (LANs). Computers connected to a wide-area network are often connected through public networks,
such as the telephone system. They can also be connected through leased lines or satellites./

FIER TP AT TS aTen I gial @ o Tafed 0 d 3 siefordta ar arfdhe wfharg w39 & fag wnfira e o awar 2159f%
WfparSil & Sy Y TR I Aol § TG ST HPAI &, 3d: HYE T A S YR P THTY 6 X HPal ¢ 110 999 T 313w
gfawdi-fagr & RrEiR Wi 8 ao7 I FeR $ FURYT IR Bt IFTER AT (Read) a1 STl Ao T geaan! deird
RAFFBI Acad) EraT & S HRIER] Bl 2T & AMSH-YGT Bl Fraur a7 2 1H7ugeR Seiral #§, TolTrd Sgfet g+ U 3T Rid 31
IUHT PR TD-gaIR & AT ST BT TG-S 4 2 1SMRA (A1) & dHa F Fa=M, add ATeaH 91 SR TTSH & IUHT §IRT RITdT
frd 9T ¥ I e TRAT Aead (LAN), FFERT SR was I=al 31 TP g 841 § o da Ue 61gh HaR @15 a1 9 9% 3t 9aR fiwe gt
TI3MHER W, @9 (LAN) feft B Wi 8=, S foeht Srafea vaq a1 R & 3R el T8 @ I8 Frger) 3iv ufvsdiy a=at | fraes
T 3 1P TRAT Aedd (CAN) Td aTe+ 99 HTHS § R ke wrugex g syt & Argswideiar) 3R gl 3 o & HaR 331 3t
gy 33 F1 =R | fewmga forar mar 8 [AuiRies whar Aead (MAN) U HoTd (Aead) 8 S favma died uhar Aead (LAN) | 93, IR 9158
TRAT Aead (WAN) § BIe Wi 89 Sudiaarsit &) Srges GH1eHl § faquiid $3dT 8106 $IgeR Aead ol 3igTdd g8 HMfas &
o Tl ST B 18R W, 39 (WAN), & 1 3if¥e diehd Tfear Aeas! (LAN) @ firaes 9941 § 1975 TR Acad | I $reR U: Araeie
Aeqmt, 9 THWH RiRed, & W I 93 g §18= divs argAt a1 3uel & Areny | f et o 9 21

Wide area network can also be connected through leased lines or:/ d138 TRAT Acad &I divs ATsAl AT ¥ areny ot
ST S g @

1. Satellites/ IWIEI
2. Radios/ &4t
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3. Televisions/ caifaeH
4. Printers / fiiex

Correct Answer :-

« Satellites/ Il

7) DIRECTIONS: Read the passage and answer the questions that follow./ frdar: Fufafea mia s meﬁ
fe2 T sgfawad uxmt & I fawed &1 9 B

The communication process is dynamic in nature rather than a static phenomenon. Communication process as such
must be considered a continuous and dynamic inter-action, both affecting and being affected by many variables.

The person who intends to convey the message with the intention of passing information and ideas to others is
known as sender or communicator. This is the subject matter of the communication. This may be an opinion,
attitude, feelings, views, orders, or suggestions.

Since the subject matter of communication is theoretical and intangible, its further passing requires use of certain
symbols such as words, actions or pictures etc. Conversion of subject matter into these symbols is the process of
encoding. The person who is interested in communicating has to choose the channel for sending the required
information, ideas etc. This information is transmitted to the receiver through certain channels which may be either
formal or informal. Receiver is the person who receives the message or for whom the message is meant for. It is the
receiver who tries to understand the message in the best possible manner in achieving the desired objectives. The
person who receives the message or symbol from the communicator tries to convert the same in such a way so that
he may extract its meaning to his complete understanding. Feedback is the process of ensuring that the receiver has
received the message and understood in the same sense as sender meant it./

AR P TRt ATH YT 1 & 324 4, fopdl Twrea o i uel R fua safaaal & i 9w a1 faemRy & seM-verd ¥ waif=a ufthar &
U ufryiya fear o1 "war 81 TarR ot ufthar #is fRR ufvgedr gt gl @ afes ag @t wfasita yefa ot gidl 31 59 ©u A, T=r uftear &)
T Wdq U4 TfaRie Srafshar AT e ARy, ol o8 @Ri | gHTad gl @ ok & @R @ guTfad avdl 81

FERI B BRI T fIaR ugam & waie & T=%1 UgarH & SMTbig Ia- aren e N9 I7 WaRS HgardT ¢ a8t I, JaR 31 faw-
T ST 81 UE PYS W, IqT, UTaT, TVHI0, M3 AT Gaira & Febal 2

e TR # fawg-avg S va 3ngd gidl 7, ora: 39 SR ot g & fiw oo wdie!, 9 wreal, fomarsit ar Rt snfe & smazawar vsdt
2| fawg-aeg 9 59 il & aqam ot fopaT &) e (@HITEN) BT ATaT 81 IR &34 § TR T ard s &) emazas aEarR, far
31fe VoM F 1T T ARt (@) I91 8T 81 T8 TSR $8 | (@aT) & ATeaH | UTeddbdl aob Jeil Srdl 8, F 9t siqeanfys ar
SIS 8 Yobd & | WTkiehd! a8 ik 8IdT & SI Y-SR T T & 9T 5= ForId 1w Wit 747 BT 81 Wiedpdt, aifedd LAl &1 U
P B UfhaT B T3 B WAAY <1 A U BT YT T ¢ [FaRS A =T T Yelth Tt B+ arell Safond 39 590 UPR | Fur=<aied A
BT YA BT ¢ R a8 ot aegol wae 35 WA 9 Saen o fHera % | ufagfd wisaw) ag e o @ ue uftear @ % wrawat
B SR UTW 81 T § 3R 39 IqBT agt ordf quer foran @ =il Uues 7 Tl

The nature of communication process is:/ IR UHAT B UPHd -
1. Dynamic/ 7 a<ita
2. Static/ RRR

3. Rotating/ gulH&RY
4, Circular/ 9l

Correct Answer :-

« Dynamic/ 7 SR

8) DIRECTIONS: Read the passage and answer the questions that follow./ 3z fFafufEa e & amgds yew? 39 R
fea T sgfaewed U=l A A6t fawed &1 9= B3|

The communication process is dynamic in nature rather than a static phenomenon. Communication process as such
must be considered a continuous and dynamic inter-action, both affecting and being affected by many variables.

The person who intends to convey the message with the intention of passing information and ideas to others is
known as sender or communicator. This is the subject matter of the communication. This may be an opinion,
attitude, feelings, views, orders, or suggestions.

Since the subject matter of communication is theoretical and intangible, its further passing requires use of certain
symbols such as words, actions or pictures etc. Conversion of subject matter into these symbols is the process of
encoding. The person who is interested in communicating has to choose the channel for sending the required
information, ideas etc. This information is transmitted to the receiver through certain channels which may be either
formal or informal. Receiver is the person who receives the message or for whom the message is meant for. It is the
receiver who tries to understand the message in the best possible manner in achieving the desired objectives. The
person who receives the message or symbol from the communicator tries to convert the same in such a way so that
he may extract its meaning to his complete understanding. Feedback is the process of ensuring that the receiver has
received the message and understood in the same sense as sender meant it./

IR P MR THE UIed H1 & 334 W, fordl w1 & firg vl w fRya saferaal & i el a1 famst & sieM-ver & wwaf=a uftrar &
Fu A ufruria frar o wear 81 HOR 31 ufsar $1E RR ufvae 78 gt § 9fcs 95 o wfosia vl 3t gt 31 59 U A, SR vfea ot
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TP T Td TRl rafshar T ST arfee, S &8 @)1 o WHTad gidt 8 S 33 @RI &t guTfad &l 81

TR B BRI T fIaR ugam & waie & G521 Ugar & SMTobig I aren s W9 O1 RS Sgardl ¢ I8t 9=, JaR 31 fawg-
G BT 1 I§ PI§ W, TAT, UTIHT, TRHIVI, S AT Y19 & FFaT &

4 TR B fawg-avg Ssifae d 3ngd gidl 7, 3ra: 39 iR S g & iU oo wdie!, 9 wreel, fomarsit a1 Rt onfe & smazawar vsdt
%lmmﬁﬁmﬁmﬁﬁmﬁwmwmélwmﬁﬁwﬁaﬁﬁﬁ TGP THEHT, fEr
3fe oM & 1T U 9t (@) AT gl 81 I8 TSR $8 AR (3dl) & A1y @ yreachdi b Jelt o g, 3 Tt oo a1
SIS 8 TPd 8| Ueidal a8 fed gldT @ &l == Ut BT @ 9T W-=1 oy forg Hem a7 g 81 wiahal, aifsd Stal &1 ure
e P UlhaT B WO I AAAY G N THIA BT YR BT 8 VIR A T2 I1 Uefteh Ut 3 a1l safd 99 59 THR A FUIiRd B
P VAT ST & O a8 v Tl qus 3t T @ 3@ 3 e TF | ufeufd (wisd®) ae i w31 & ue uithar € % urasal
Y T3 TS B 74T § 3NR S IqbT agt o Twer oy & ) Uwes @1 AT

The person who intends to convey the message:/ =% Ao Pt ATHITT@AI AT Al BT &
1. Receiver/ UTeiardt

2. Encoder/ TA®HIEY

3. Decoder/ fd@is® (ElHlsR)

4. Sender/ UN&

Correct Answer :-

. Sender/ UY®

9) DIRECTIONS: Read the passage and answer the questions that follow./ 3= fFafifa e & aFyde yes? 39 -
o M wgfawed w=Al § W fypeq o1 9u= B

The communication process is dynamic in nature rather than a static phenomenon. Communication process as such
must be considered a continuous and dynamic inter-action, both affecting and being affected by many variables.

The person who intends to convey the message with the intention of passing information and ideas to others is
known as sender or communicator. This is the subject matter of the communication. This may be an opinion,
attitude, feelings, views, orders, or suggestions.

Since the subject matter of communication is theoretical and intangible, its further passing requires use of certain
symbols such as words, actions or pictures etc. Conversion of subject matter into these symbols is the process of
encoding. The person who is interested in communicating has to choose the channel for sending the required
information, ideas etc. This information is transmitted to the receiver through certain channels which may be either
formal or informal. Receiver is the person who receives the message or for whom the message is meant for. It is the
receiver who tries to understand the message in the best possible manner in achieving the desired objectives. The
person who receives the message or symbol from the communicator tries to convert the same in such a way so that
he may extract its meaning to his complete understanding. Feedback is the process of ensuring that the receiver has
received the message and understood in the same sense as sender meant it./

TR P MURFT WO Yo B & IRy A, Fopelt Wi ® i uel R fRua safaaal & dta aut a1 far & smer-ueq & i< ufear &
= ® ufyuTira forar o war 81 HER 3t ufsear 15 RR ufvgedr 781 gidt @ 9o 98 @) Tfawiia upfa @ il 81 39 ©u ), TaR uftear &
T Hddq U9 TTriier Srafshar WA ST 91fey, St B8 W) | yuTiad gl @ ok & WY B yHifia st 21

SR B ISR Td faaR uga & Te & TR UgaH 31 SdieT I@- ardl Afed N9 91 YIRS Hedrdl 8| I8t uesT, TaR 31 favy-
e ST & | I8 BIS T, I44T, WTaHT, EVHI0T, 3M1a=T a1 YT §f 9l gl

P TR B favg-avg A~ Td angd gidl 8, 3rd: I 3R 3 gem & foe oo udie!, S w3, fraraif ar et onfe &t srazaear st
21 fava-avg # 397 weltol & aean $1 fipaT &Y ST (TABITET) F71 91T 81 VAR A | I 3@ ard Aafed & Siazgs SHaRY, faR
3fe Vo F 1Tt A1t (@) g1 BT 81 I8 WHSRY $8 AT (@dl) & ATeay A Ueddhal aeb Jell |rdl 8, T 9rt siaarfys ar

ST 8 Hobd &1 UTKiehd| 98 ik BIdT & S T=S= UTGT PR & °T -5 ForId e Wit 7471 i1 8| Wi, aifdd STl &I ured
P P UihaT § T P JAAT G W THA BT WA BT 8 ITIRS A T2 IT Uef b Ul A a1l it S 59 TP § FUT1Rd B
BT YT FHaT 8 Frad a8 ot Tl Jue 3t T a9 S o fHera ad | ufagfd (wisdw) ag e #33 9 ue uftear @ % wrawat
P T U B T § 3R I SHPT a8t 3 Ty foran & Y Swe v AT

The subject matter of communication is:/ Wﬂﬁﬁw-ﬁ?ﬂ _ﬁ?ﬁ %:
1. Theoretical and intangible/ g~ Td 3L

2. Practical and intangible/ STagIR® Td 3

3. Theoretical and tangible/ I~ Td T

4. Practical and tangible/ ST Td Td

Correct Answer :-

« Theoretical and intangible/ ST T& 3t
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DIRECTIONS: Read the passage and answer the questions that follow./ 3z fFafufEa e & amgds yewr U R
fe2 T sgfawad uxt & I fawed &1 77 B

The communication process is dynamic in nature rather than a static phenomenon. Communication process as such
must be considered a continuous and dynamic inter-action, both affecting and being affected by many variables.

The person who intends to convey the message with the intention of passing information and ideas to others is
known as sender or communicator. This is the subject matter of the communication. This may be an opinion,
attitude, feelings, views, orders, or suggestions.

Since the subject matter of communication is theoretical and intangible, its further passing requires use of certain
symbols such as words, actions or pictures etc. Conversion of subject matter into these symbols is the process of
encoding. The person who is interested in communicating has to choose the channel for sending the required
information, ideas etc. This information is transmitted to the receiver through certain channels which may be either
formal or informal. Receiver is the person who receives the message or for whom the message is meant for. It is the
receiver who tries to understand the message in the best possible manner in achieving the desired objectives. The
person who receives the message or symbol from the communicator tries to convert the same in such a way so that
he may extract its meaning to his complete understanding. Feedback is the process of ensuring that the receiver has
received the message and understood in the same sense as sender meant it./

IR P TR ATHO WIed 1 & 3634 4, Fordl w1 § firg uel W FRya saferaal & i il a1 famt & sieM-veq 3 wa iR ufear &
=q § gyt foran o wear 31 TAR @t uftear FiE fRIR ufvge 781 gidl & afer 98 @ nfoxia uefa 31 8 81 59 Fu A, TR ufiear &
TS W U4 TI=Ae Srafshar AT ST 91iee, ol 8 =R) | WHIad gl @ 3R &8 @Y &) guTfad ol 81

TR B BRI T fIaR ugam & Wi & T=5%1 Ugar & SMTbig I@- aren safad W9 U1 AR Sgardl 81 I8t 9=, WaR 31 fawg-
g ST 81 TE BIS e, I91, UTGHT, TVDI0L, S 91 Y9 &) Tl 21

4 TaR B fawg-avg Ssifae d 3ngd gidl 7, 3ra: 39 iR S g & 1w oo wdie!, 9 wreel, frarsit a1 Rt onfe & smazawar vsdt
21 faug-avg # 59 Uil A agam o fhaT &) DIs (TIHITST) BT ATaT 81 IR A | TR TWH a1 S 1 Sawysd A=arRt, fmr
31fe VoM F 1T T ARt (@) I BT 81 T8 STHSRY 8 |1 @a)) P ATeaw § UTedddl aob Jeil oirdl 8, 4 9t sitqenfye ar
SIS & TPd 8| UKiddl a8 i gldl @ ol IR0 Ut BT @ 971 T-=1 oy forg A 1 g 81 wiapal, aifsd Stxal i e
A B URRAT § -SRI &1 JAAY &1V GHIA P WITY Hd] 8 [HaRS A = YT Ul Ut A a1dT e 39 59 YR F TUr<ivd HI
BT YA HdT & R a8 3o+ Tegol wae 3t W1 9 sqer o foera 9% | ufagfY (Wrea®) ag ik o 9 Te uftear @ i wraeat
Y T3 TS B 74T § 3NR S IHT ag) o Twer oy & ) Uwes @1 1|

The person who receives the message:/ SN UE HA @I AfGT __ Peardl e:
1. Communicator/ ¥9R®

2. Decoder/ IEEARED (@ﬁ@?)

3. Receiver/ UTeiardf

4. Sender/ U¥&

Correct Answer :-

. Receiver/ UTddl

11) DIRECTIONS: Read the passage and answer the questions that follow./ o frafafea T s mﬁqﬁmwm
i o T sgfawedt wxal § O3 fywew &1 a9 $¥)

The communication process is dynamic in nature rather than a static phenomenon. Communication process as such
must be considered a continuous and dynamic inter-action, both affecting and being affected by many variables.

The person who intends to convey the message with the intention of passing information and ideas to others is
known as sender or communicator. This is the subject matter of the communication. This may be an opinion,
attitude, feelings, views, orders, or suggestions.

Since the subject matter of communication is theoretical and intangible, its further passing requires use of certain
symbols such as words, actions or pictures etc. Conversion of subject matter into these symbols is the process of
encoding. The person who is interested in communicating has to choose the channel for sending the required
information, ideas etc. This information is transmitted to the receiver through certain channels which may be either
formal or informal. Receiver is the person who receives the message or for whom the message is meant for. It is the
receiver who tries to understand the message in the best possible manner in achieving the desired objectives. The
person who receives the message or symbol from the communicator tries to convert the same in such a way so that
he may extract its meaning to his complete understanding. Feedback is the process of ensuring that the receiver has
received the message and understood in the same sense as sender meant it./

TR B it ATHSRY Ut 34 $ 9229 9, fhedft e # fird vl w fRua safaaal & o g an fommRy & Sner-ve & wwafud ufrar &
= ® ufrHTid foar o1 Wear 81 HER 3t ufsear 15 fRR ufvgedr 781 gidt @ 9o 98 @) Tfawiia upfa @t il 81 39 ©u , TIR ufthar &
T Hdd U9 TTreiier Srafshar WA ST ARy, S B8 TR @ g gl @ ok & WY &Y wHifia st f1

FER Y AFSRY Td faaR ugam & we & TR UgaH 31 SdieT I@- ardl Afed N9 91 YIRS Hedrdr 81 I8t W, TaR 31 fava-
g a1 81 98 BIS A, IAGT, YT, TVBI0L, SR 91 YIATd 8 Wbl 2

Hfeh TR P favg-axg Ssif<re vd 3ngd gl 8, 3ra: S& 3R 3m) 7o & e oo wdie!, I weay, fparsit a1 e enfe & smazgear vsdt
21 favg.ag 9 379wl § Tean @t fha1 &) SIs (TIHITET) FeT oTaT 8| HuR T4 | R T a1d e &1 Saas =R, fEr
3fe VoM F 1Tt At (@) g1 ST 81 I8 SWTHSRY $8 | (@dl) & ATeaw A Widdbdl aob Jell rdl 8, T 9t siaanys ar
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TS 8 TPd €| UTwdod! a8 Safkd BidT @ Sit I=%T UTed $dT & U1 =1 Ford fore Weim 1am g 81 Ureaerat, aifodd Sexal &) ure
B B URHTT § TSN B AN <1 A THSA BT IATH Bl ¢ [HURP A - T U YTt HIA a1dT Afad S9 50 YR A TUr<ivd $e
BT YATH AT 8 S a8 v Tyl Jue 3t T a9 S9er o fHera aF | ufagfd (wisd®) ag gifia #33 9 ue uikar @ % wrasat
P S UTW 81 4T & 3R S IqBT 9 3 Foey foran @ Wit Swe o1 T

The process of ensuring that the receiver has received the message is called:/ U@dl &1 W< UIW 81 74T & 98 gifya
I P uiehar Peard! 8

1. Feedback/ WISaa® (gAfaeM)
2. Information/ =T

3. Opinion/ Hd

4. Attitude/ 31

Correct Answer :-

« Feedback/ Wgad (AHaRH)

12) DIRECTIONS: Read the passage and answer the questions that follow./ f&2r: fruffaa meiw &t earyd® ugas &
i o T sgfawadt w=al A 9t faweu &1 3= #¥ )

The communication process is dynamic in nature rather than a static phenomenon. Communication process as such
must be considered a continuous and dynamic inter-action, both affecting and being affected by many variables.

The person who intends to convey the message with the intention of passing information and ideas to others is
known as sender or communicator. This is the subject matter of the communication. This may be an opinion,
attitude, feelings, views, orders, or suggestions.

Since the subject matter of communication is theoretical and intangible, its further passing requires use of certain
symbols such as words, actions or pictures etc. Conversion of subject matter into these symbols is the process of
encoding. The person who is interested in communicating has to choose the channel for sending the required
information, ideas etc. This information is transmitted to the receiver through certain channels which may be either
formal or informal. Receiver is the person who receives the message or for whom the message is meant for. It is the
receiver who tries to understand the message in the best possible manner in achieving the desired objectives. The
person who receives the message or symbol from the communicator tries to convert the same in such a way so that
he may extract its meaning to his complete understanding. Feedback is the process of ensuring that the receiver has
received the message and understood in the same sense as sender meant it./

IR P MR ATHO W 1 & 334 4, Fordl w61 & firg uel W fRya safeaal & i el a1 famst & sieM-ver 3w ufar &
=q & gReyTira forar o wear 31 TAR @t uftear $iE fRIR ufvge 781 gidl & afes 9g @ nfexia uefa 31 8 81 39 Fu A, TR ufiear &
U W U4 A=A Safehar AT ST 91iee, Wil 8 =R) & WHIAd gl @ SR &8 wRY &) guTfad ol 21

TR B BRI T fIaR ugam & waie & T=5=1 Ugar & SMTbig I aren s N9 U1 WaRS HgardT 81 a8t 9=, JaR 31 fawg-
g ST 8| TE PIS T, 341, UTT, TVHV0L, M= a1 1d & Fehell B

4 TaR B fawg-avg Ssifae a 3ngd gidl 7, 3ra: 39 iR S g & 1T 5o udie!, 9 reel, frarsit a1 Rt snfe & smazawar vsdt
2| faug-ag o 59 il A agam ot fha1 &) Hle (TIHITET) BT ATaT 81 IR A W TR T a1d o &1 Srawa s AearR, far
31fe VoM F 1T T ATt (@) I91 81T 81 T8 SITHSRY $© | @aT) P ATeaw | UTedddl aob Yol srdl 8, 4 9 siqenfys ar
SIS 8 TPd 8| Ueiddl a8 i gldT @ ol == UTtd BT @ 9T T-=T oy forg AT T4 g1 81 Widebal, aifeod Stval i Ui
HIA B URHTT H TR B JAAY &1V GHIA ST TITY Bl 8 [HaRS A - YT Ul Ut A a1aT e S 59 YR F TUr<ivd HI
BT YA ST ¢ o a8 3o+ Tvgol wae 3t War 9 sqer o frera 9% | ufagfY (@Wrea®) ag ik o 9 Te uftear @ i wraeat
Y T3 YT B 74T § 3NR SHA IHbT At o Twer ey & ) Uwes &1 AT

Conversion of subject matter into symbols is the process of:/ fdug-axg & ydi®! & gga «f uftear i HEd &
1. Encoding/ TS (TTHITET)

2. Decoding/ fa@ieT @®ifem)
3. Transmitting/ YR

4, Referring/ TNl

Correct Answer :-

« Encoding/ B89 (TAHIfEM)

Topic:- Child Care and Education

1) Which type of learning emphasizes the importance of rewards and punishment?/ {58 U@R ¥ &0 & TR 3R gvs
P Hg<d R SR foar wrar @2

1. Operant conditioning/ fraTiRId srgdH e
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2. Cognitive learning/ ST e

3. Classical conditioning/ TRURFTd 3%
4. None of the above/ 3WRiad & ¥ HI3 g

Correct Answer :-

« Operant conditioning/ TraTuId eI e

2) A child whose parents are dead or have abandoned them permanently is called:/ 3 =0 foraes wrar-fUar #t gog 8t 73
B 1 30 Tt U A T o |, wearar @

1. Orphan/ 314

2. Destitute/ FRIf%d

3. Disabled/ 31&#H

4. None of the above/ StRIad § ¥ HIs g
Correct Answer :-

e Orphan/ 3 1Y

3) Which among the following is not associated with ‘error of refraction’?/ ﬁ%‘rﬁ'@aﬁa, mzﬁﬁwﬁﬁ?&?{%"
1. Myopia/ @ cedd

2. Hyperopia/ sifdH@ee¥dr

3. Astigmatism/ W@@W

4. Cataract/ Wifcanfag

Correct Answer :-

. Cataract/ Hifourfae

4) A person who has no money at all, no food and no place to live is known as a:/ mﬁ%wiﬁﬁ %HHB’I, EEE K
3R 3 & forg =i 71 |, 95 T FEan §:

1. Disabled person/ 3{&H fad

2. Destitute/ RIS

3. Juvenile Delinquent/ ST 3{O=Teft
4. Impaired/ fA:=9q

Correct Answer :-

« Destitute/ FRif%a

5) Which among the following is a pre-speech form of communication?/ ﬁ?ﬁﬁﬁﬁ,#ﬂﬂ'ﬂﬁwlﬁmﬁ?
1. Crying/ 391

2. Cooing and babbling/ faemieal 3R gaaree

3. Gesturing/ §Td-HTa &R

4. All of the above/ IR g4l

Correct Answer :-
« All of the above/ IURlad gt

6) Body build which has more of adipose/fat tissues than muscular tissues is called:/ mm@m@ﬁﬂm
FHa®! ard TR 15 Heardl &

1. Ectomorphic build/ ST fa® T8
2. Mesomorphic build/ eyt 75
3. Endomorphic Build/ 3d:&d! T84
4. None of the above/ IWRigd & § B3 T8l
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Correct Answer :-

« Endomorphic Build/ 3id:&Ul T4

7) Which among the following process can be termed as one which brings about a relatively permanent change or
modification in behaviour as a result of practice or experience?/ ﬁ?ﬁﬁﬁ?m, ST a1 W%uﬁmwﬁ
SUeTHd RITH SaTa a1 RN AT arelt A= o W 82

1. Learning/ Khiearesiperd

2. Recreation/ ARG

3. Exercise/ T4/TATH

4. Aesthetic appreciation/ Tied Ay

Correct Answer :-

« Learning/ 3ifeRTH/A G

8) ICPS stands for:/ TEAIITH (1CPS) BT FT 3 B-

1. Indian Child Protection Scheme/ YR STel TRETTT Aot

2. Integrated Child Protection Service / TIgd aTel UR&0T AdT

3. Integrated Child Protection Scheme/ T@igd STdl T=&OT rorT
4. Indian Child Participation Scheme/ HRdg STe UfaHTAIAT T

Correct Answer :-

« Integrated Child Protection Scheme/ WWW&M@W

9) Which among the following refers to significantly sub-average general intellectual functioning existing
concurrently with deficit in adaptive behaviour?/ FE # ¥ @19, ScE-1g ©U A 3fi9d I o gy difgs frariadar @ d6fta &
St SRS TaER A HHI S HIY Fead] U § A ot 82

1. Learning disability/ 3iftrmy (e Taieh) srerman

2. Emotional disturbance/ HTa-TaTd fa&ferdl

3. Mental retardation/ AFRI® Hadl

4. Autism/ 3ffeSHRIATAT

Correct Answer :-

« Mental retardation/ TS Hadl

10) AIDS stands for:/ TSH (AIDS) &1 3 gia1 3:

1. Acquired Immuno Deficiency Syndrome/ T&TdS SR SR RigH
2. Actual Immune Deficiency Syndrome/ Tag3d SHIAT SfhRIRH RigH
3. Acquired Immuno Diseased Syndrome/wmmﬁ@ﬂ

4. Affected Immune Disease Symptom/ H‘ﬁﬁ%‘s’%ﬂ-ﬁ%\?ﬁﬁfﬁl@ﬂ

Correct Answer :-

« Acquired Immuno Deficiency Syndrome/ T&Tas 3R SfthfRest Rigm

11) Which among the following should not be done so as to reduce the effects of disability?/ ﬁ?ﬁﬁﬁ, S{&HAT YHTd
HU H1 P forg 7Y foman s Tnfee?

1. Preparing the disabled for a vocation to make them economically independent/ 3 aafad &1 e =0 ¥ Tada a9 & forg it gfy
(TT) ¥ R BT

2. Practicing the belief that it is a curse to be a disabled/ 39 fa4T & TRIfeId T b 31erm g1 wb Ui &

3. Modifying the person’s environment so that they can cope with the disability/ Zfad & URAY BT T UHR Iad I 1 I SHefdar ol
T HR G

4. Creating favourable attitudes among the community/ TH&™ § SIHHIED SBHI0 Jiord BT
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Correct Answer :-

« Practicing the belief that it is a curse to be a disabled/ 9 fay™ & vafeid &1 fab e g1 Ue guia @

12) The frequency of behaviour can be reduced by giving:/ T USH $Ib HATER DI Gn?{ﬁﬁﬁﬂﬂﬂmﬂiﬁﬂ%
1. Punishment/ 308

2. Negative reinforcement/ ThRIHD Yddd

3. Both of the above/ SWRIad gl

4, Positive reinforcement/ YhRIHD Ydc

Correct Answer :-

« Both of the above/ SWRIad &I

13) Any agent that causes a birth defect is known as:/ Wiﬁﬂmﬂiﬁaﬁnﬂﬁiw, WI?IT%:
1. Teratogens/ IGESCEEL

2. Diagnostic defects/ BAIREZCL]

3. Defective agents/ WW

4. None of these/ TTH ¥ HIs g

Correct Answer :-

. Teratogens/ fa&goH®

14) Cerebral palsy is a type of:/ A35d TR, Th UPR &:
1. Neurological impairment/ GIECAR RG]

2. Musculo-skeletal impairment/ U SepTelly 3=raddr

3. Psychotic disorder/ F-ardt fawR

4. None of the above/ StRIad § ¥ HIs g

Correct Answer :-

« Neurological impairment/ TR® T =TI

15) The period from conception to birth is known as:/ THIUT | S dF @ 3afy Hgarl 8:
1. Prenatal period/ Yaqd 3@fy

2. Postnatal period/ TGO Aty

3. Period of neonate/ asiTd fafdf

4. Period of ovum;/ 3{STY] 3fafy

Correct Answer :-

« Prenatal period/ THayd $afdy

16) Which among the following refers to the protection of children from violence, exploitation, abuse and neglect?/

e Q o, 3= o &, o, gafagR Sk e A W& veH H & Jafia 32
1. Child welfare/ STl & 10l

2. Child protection/ sTel TR&01

3. Child abuse/ §Td gadagR
4. Child care/ 919 G@HTA

Correct Answer :-

« Child protection/ STel §R&UT

17)
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Dynamic organization within the individual of those psycho-physical systems that determines the individuals unique

adjustment to the environment is termed as:/ URa% & ufa aafed &1 it IrmeH fuffva w4 areh gz yonfa ara
A F e W Hewrdr 8

1. Cognition/ EIC]

2. Play/ @@
3. Personality/ safadd
4. Morality/ 3faedr

Correct Answer :-

« Personality/ Safada

18) The cord which carries food substances and waste products to and from the embryo is called:/ YUl a& QT UGt @&
ST arelt 3R Srufy verdf arex & oI arelt Tel, 1 Heardl 8

1. Umbilical cord/ THTa

2. Sterilized cord/ fadsHd Ara

3. Cord of Zygote/ gtHG ATl

4. None of these/ TTH ¥ HIs g

Correct Answer :-

« Umbilical cord/ M@

19) School readiness is developed in which period of development?/ T@d @t a4, o faeT srafy ¥ faw iy gidt 82
1. Infancy/ AaSITd TR

2. Early childhood/ RN STegrawit

3. Middle childhood/ A& STcaTdxT

4. Late childhood/ 3SR STcTdRIT

Correct Answer :-

« Early childhood/ 3MRf& STeara=l

20) Early childhood is also known as:/ 3RfH® STeATa®AT $! g Y HeT o141 2
1. Preschool age/ ¥@d U 3fafd

2. Toy age/ f&AHT (Tem @) 3rafy

3. Problem or troublesome age/ THX U1 HioTs Bt 3fafdy

4. All of the above/ JRIad G

Correct Answer :-

« All of the above/ IR g

21) Which among the following is not a period of prenatal development? /@ # @ 1, S0-7d faery & srafy 8 &2
1. Post-partum/ U¥d-URdld

2. Foetal/ yofg

3. Embryonic/ mifg

4. Germinal/ &

Correct Answer :-

o Post-partum/ U9d-URATd

22) Specially designed instructions which meet the unique needs of an exceptional child is known as:/ forsft sraTem=or

T P Afgelg sma=adarsit @t gfef He ardl faRiy R W sifueiera (Fewimga) e g srgewr wgand &
1. Exceptional education/ SRATYROY/STATE] et
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2. Special Education/ fa=iw fem

3. Casual education/ 3T R® e
4. Formal education/ 3No=TRe fRra

Correct Answer :-

. Special Education/ fa2iw frem

23) “Juvenile’ means a child below the age of:/ "T%NR &7 3 forad w0 arrga?aﬁﬁ%:
1. 16 years of age/16aﬁx’rﬁ§
2. 17 years of age/17?ﬂ$f3fr§
3. 18 years of age/lSBTSf&rrg

4. 21 years of age/21 a‘SfoTg

Correct Answer :-
« 18 years of age/lga'ﬁfaﬂ'g

24) Three per cent reservation in government educational institutes/government aided institutions is provided for

the disabled children by:/ &M I & {0 IPR} e TR RARPR TeradT Ured G & i ufer=a srReror uer forar man @
1. Ministry of Social Justice and Empowerment/ I =19 Td TR HATC gRIT

2. Ministry of Rural Development/ UTHIT fa& T Haad GRT

3. Ministry of Education/ fR1&m #ared gR1

4. Department of Disability Affairs/ S&FHAT HTH! o HATed IR

Correct Answer :-

« Ministry of Education/ fRi&m d=re™ g1

25) Which among the following is not a type of learning?/ ffrg % & &4, ftrm i E) &1 UPR T &2
1. Trial and Error/ T1&o 33?31%

2. Classical conditioning/ TRURITd 3{J e

3. Materialistic conditioning/ TeTdard! srIgmer

4. Instrumental conditioning/ e S RCTSE]

Correct Answer :-

« Materialistic conditioning/ U&rare} 3@

26) The study of Human Development is not related to which among the following discipline?/ 19 faer &1 sreaaH, g
A frw fawg @ wafta 78 32

1. Anthropology/ AFafasH

2. Mechanical Engineering/ Tifae et
3. Psychology/ A3

4. Biology/ Sftafasi

Correct Answer :-

« Mechanical Engineering/ Tifd® SifEiat

27) If a child does not turn when called from behind, uses gestures excessively and does not understand spoken
language, he might be suffering from:/ af¢ 1§ g=1, I ¥ THR 9 R 6! ST 8, BA-HTAl BT SfUGaH STTNT HdT § 30T et
ST arelt YTST TE A1, @) 98 IR 8 el &

1. Hearing impairment/ YT ST
2. Learning disability/ 31 (e dddh) sremar
3. Mental retardation/ AFRI® Hedr
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4. None of the above/ mﬁ@aﬂé:ﬁf

Correct Answer :-

« Hearing impairment/ YU T Y

28) Human development is the study:/ 9194 fa&rg T B
1. Of children aged 2-12 years/z-lz?:lﬁf%EiEﬁaﬂ

2. From conception to 12 years/ THIUM ¥ 12 a9 3afd &1

3. From conception to adolescence/ i ¥ iRy srafd &

4. From conception to old age/ ﬂlﬁuﬂﬁq&*mwm

Correct Answer :-

« From conception to old age/ THTY ¥ 9g 31T T BT

29) Which among the following services is an important component of ICDS?/ @ & @ ®1 3t Aq1, AT 1 v
TP 82

1. Scholarships to meritorious students/ 978 T3 &I SEgRAT
2. Providing Juvenile justice/ dTci <1 UGl HRAT
3. Providing Concessions in fares to needy students / SReXAHG B &g [l § Ramd | @GR &1

4, Providing nutrition and health education/ 90T 3R TR e T B

Correct Answer :-

« Providing nutrition and health education/ Tyor 3R TR R8T Uer SR

30) “Tabula rasa” means:/ “?@?IT T &1 A B
1. Tabular arrangement/ IRUNES fa=m

2. Blank Slate/ @I Wic

3. Table and chair/ 3 3TR HHf

4. Board and slate/ SIS 3R ®We

Correct Answer :-

« Blank Slate/ &R We

31) ICDS stands for:/ 3MEHETH (1CDS) P AT A &

1. Integrated Children Developmental Scheme/ T&Hidd aTd AT Ao
2. Integrated Child Development Services/ THidhd aTd faHT YaTd

3. International Child Development Services/ aaﬁ@uwﬁmﬁam
4. International Child Development Scheme/ W@HWWW

Correct Answer :-

« Integrated Child Development Services/ T®igd aTd [d&H I HaTy

32) Children with Profound retardation have an IQ below:/ WgR T+ ardl g &1 sn‘éaqm'@rmtﬁm%
1.50

2.40

3.30

4.25

Correct Answer :-

« 25
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33) ICDS scheme was launched in the year:/ 3SAEITy aiedn, 59 af uRy 9t 18:
1.1970

2.1975

3.1980

4.1985

Correct Answer :-

« 1975

34) To which age group do the pre-school children belong?/ W—tﬁﬁm M@Wﬁﬂﬁﬁ'ﬁﬁﬁ%?
1.1-2 years/l-zfﬂsf
2.2-3 years/2-3a'5f
3.3-6 years/3-6a15f
4. 6-7 years/6—7a'5f
Correct Answer :-

« 3-6 years/3-6 Ty

35) Which among the following can be described as a process used for bringing about a relatively permanent change
or modification in behaviour as a result of practice or experience?/ g ¥ & 5, srary a1 sqya & uRomaaEy gagR &
JUETH T ufvae= a1 Hee A & g wga ufssar & & H $g1 o1 9T 82

1. Recreation/ HARSH

2. Exercise/ 3¥TH/aqTAH

3. Learning/ 3{feRTH/AfREAT

4. Aesthetic appreciation/ Tied Ry

Correct Answer :-

« Learning/ 3ifeRTH/ARGT

36) The growth sequence that starts at the centre of the body and moves towards the extremities is called:/ WRE

Fg A URY EI aTe TUT AEG3AT a9 o1 9Tl gf HH, Heardl 8
1. Cephalocaudal law/ Rithargga fam

2. Patterned law/ fie &1 fFam

3. Proximodistal law/ Hifamifsted fom

4. Far-outward Law/ BR-33edTS fAaA

Correct Answer :-

« Proximodistal law/ Uffeqaifeted fam

37) Which among the following is not a kind of puppet?/ ﬁ%‘rﬁ'ﬁaﬁ-—r, WWWWT@%"
1. Doll/ Sfd

2. Glove/ &Ml

3. Stick/ Tt

4, String/ 3

Correct Answer :-

« Doll/ 3@

38) Which among the following term is used to refer to the developing baby from the time of implantation until the

beginning of bone formation?/ i ® & fa Wsg &1 UG, Tufer= & vy A sfgsar a7 a@ fawla g R ¥ e fear smar @2
1. Ovum/ 3iel
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2. Sperm/ R[hTY]
3. Embryo/ Y1
4. Foetus/ TH® farg

Correct Answer :-

« Embryo/ YUl

39) Legal age for marriage for a male is:/ TV 8¢ f3arg &1 ST Mg @
1.18 years/lSTﬂf

2.19 years/19atf

3.20 years/ZOT:ﬂSf

4. 21 years/21 EL

Correct Answer :-

« 21 years/21 EL

40) To learn social behaviour the most common ways is:/ TS AGER JE BT I JMHT THT 8
1. Imitation/ 3P0

2. Empathizing / IARYfd

3. Sharing/ H‘I’-@?{I’@

4. All of the above/ JWRIad g

Correct Answer :-

« All of the above/ IWIa g4l

41) Which among the following can be done to prevent disabilities?/ 3[&HdTE AP $ 1€ forg & | T fopar o 9o &2
1. Early identification/ <t Ugda

2. Timely intervention/ TUI R gaY

3. Both of the above/ IWRIad GHI

4. None of the above/ IWRIad H § &S gl

Correct Answer :-

« Both of the above/ IWiad aH!

42) Object permanence according to Piaget is established in which stage of the Cognitive development theory?/fiars

F ITUR, I W SiureTs e Rigia & fea wor & wifta gar 2
1. Sensorimotor/ YA&R®

2. Pre-operational/ Jd-Sfsares

3. Concrete operational/ 319 dforardd

4. Formal operational/ 3o dfsharers

Correct Answer :-

« Sensorimotor/ TadIiR®

43) Dyslexia, Dysgraphia and Dyscalculia are types of:/ fsaafewmn, fswnfrar 3R fexdepiom, fFad TR §:
1. Neurological disorders/ df@a fdeR

2. Mental retardation/ A% Haal

3. Learning disabilities/ 3 (Tem Tddh sremamg

4. Hearing Impairments/ 40l §T4T¢

Correct Answer :-
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« Learning disabilities/ 3 (fiem Tdedh) srermang

44) Which among the following means the subjecting of a child by any person to physical punishment that involves
the deliberate infliction of pain as retribution for an offence, or for the purpose of disciplining or reforming the child?/

a3 fra ad 3 73 9 flt erRTy & 9ed &, 971 SR # 7@ 91 99 § JUR $3 $ Igexd 4 et arfea gr1 #9018 e qus
fear wiran 8, forad siavla wFggex dreT ugars o @2

1. Corporal Punishment/ IRIR® U8

2. Emotional Abuse/ HTaTaT® gHagR

3. Psychological abuse/ AATI® gEaER
4. Neglect/ I

Correct Answer :-
« Corporal Punishment/ X A& gus

45) Preschool education lays emphasize on the development of Three R’s, which are:/ W-q@‘fir&nﬁeﬁqam ®) ¥ fawr
R R fearmar g, s a g

1. Reading, Recitation, Reaction/ UgT, G, ufafsar

2. Reading, Racing and Resting/ UeT, a's:ﬂ fasmg e

3. Reading, Recitation and Recreation/ Ue-l, a‘ERFﬂ, 3R HARSH
4. Reading, Writing and Arithmetic/ g, foRaTT 3R Tiford

Correct Answer :-

« Reading, Writing and Arithmetic/ Ug-T, forge 3k oG
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